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Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.
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The Test Booklet contains 150 questions. Section A (Indian History) has 30, Section B (Geography)
has 30, Section C (Indian Society) has 30, Seetion D (Current Affairs) has 30 and Section E (Mental
Ability) has 30 questions. Each question carries 1 mark.
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The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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The Test Booklet is printed in four (4) Series, viz. @. The Series, |Alor|B|or|{C|or @
is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or o or @ in Part C on side 1 of the Answer Sheet by darkening the appropriate
circle with Blue/Black Ball point pen.

(%, DB wverDd Sigasoedd (4) Series e [D] sgsmedt svposadse. s sgsvem
[A]ma [B] mo [C] mo [D] mo @4, ssso dios, 550> b8 5830 saresd swoposndss. So8ays
(59, DB g, Sgasd (Series) [A] md [B] md [C] mo [D] mo ssoroes s eses 3 >§ C
505 905335500 BarosoosaBs 5,858 22 /epb end a0l 20,8 Som 1y VDSBS,

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

® ® O 0O
If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.
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10.

11.

Each question is followed by 4 answer. choices. Of these, you have to select one correct answer and
mark it on the OMR Answer Sheet by darkening the appropriate circle for the question. If more than
one circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stain marks. Use of whitener is
prohibited. If used, it will lead to invalidation.

98 RS Teord BrERREve aSwdsD. eoéd KeaDIb e SMER $ocT> OMR BSFES

D8P S Geronosads S,BB50M JOP HY NDSBRO. 6.5 CHIST, Iy SBSVOD VDI, &
REPERRHED DOEDODEM, F,BS0M QP SO WG VYLD ap/ers erd R0 BN, PESS.
SBSIOD DR DD gd&&m&;&)&aﬁ&w. B BSERR DB DOBDODED.

e.g.: If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
SR [DE, Bs, Baonogy 1 8 2samen (2) ©000RDyE, BRRR 61 500 DEEVP HROSST :

110|0|0|®

Use Blue or Black Ball Point Pen only, failing which your OMR Answer Sheet will be invalidated.
Gel pens/pencils are not allowed. It is not required to darken the second copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the OMR Answer Sheet.
An OMR Answer Sheet without the signature of the Invigilator is liable for invalidation.
OMR 38 DEsané® 8er0000S Qvamé* 56335553 (Invigilator) c308, VBN MOGSSI.

156> DOFGER BowE30 OMR BSrees DES0E} Ssasonss? @o $508doBwUD.

DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your OMR Answer Sheet will be invalidated.

53 DB DI DB 65 SOPR), DBSNW> SESBDPR, Asew Ao M, DoDLOPR, DR ao:be.)o,
Ao MR 32558 S OMR Saspes DS HeddosE.

Using the Whitener/Blade/Eraser/Chalk Powder or any kind of tampering to change the answers on
OMR Answer Sheet will lead to invalidation.
OMR Sarges Disnsd Do aapa e Bss /B0 /0g,t0 /o Db 88 D ER0S OEReren Sten

32 B BEPERS DD DOBDODE.

Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
SSPERISDOM PADBI0P HYOWOND. HVN VBEWoIFS Hors DeriBoswED.

Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.

by 96D 50D IRIVE, oy 85 OMR ISreed DiEasw eOBSER (RN, VBID) V5E 6F,
2055908 (Invigilator) a9, oo 389 (duplicate) OMR Rarees HEaNS (o DEBS0) B5E
S5 Bgasiayo. ;
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12.  Any type of Calculators, Mathematical/Log Tables, Mobile Phones, Bluetooth instruments or any

13.

14,

15.

16.

other Electronic Devices will not be allowed into the Examination Hall,
9 o505 DNBRs, rdvlerh Bwd, 30BS, ararS sesmes ™ o JwSod o506
DOSTIVOM HEY F*EVB erroSBosES).

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.

Db Heos eogitpen 985 Bro ey S6% (2-;- fiotien) GoESTD. & ey ™R BbF Sogsd o
DoRBOSTH WD DoBVEWD.

If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

D e vovm IBofied Zwoemsd SaHERE PabBEdsANd T eHEMIEY $HeaDo
DEPBBED DO LHTUD.

Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else, : ;

65 36,0 @4, Dwosd 50 HESH srd> Barrd. 33 5,50 BADOHD.

As per G.0. Ms. No. 235, Finance (HR-I, Plg & Policy) Dept., Date 06/12/2016, each wrong answer
will be penalized with 1/3™d of the marks prescribed for the question and that would be deducted
from their total marks. _

G.O. Ms. No. 235 Py (HR-L, Plg & o) SdngdoosS, 36 06/12/2016, psoore @8 6w,
a8 DEE Swranods Srwesd 1138 So BA0BE0 BB HooaLy GO Sooso
56,0 3008 8d8aveE0s.

25022024

e ——



GS/2G/200

SECTION A
Indian History

‘Anda, harmika and chhatri’ are integral parts i

of which one of the following Buddhist

monuments ?

(1) Chaityas

(2) .. Viharas

(3) Stupas

1) as %,
2.

Which among the following pillar inscriptions
of Ashoka states that the land revenue rate of
Lumbini was reduced to one-eighth ?
(1) Maski pillar inseription

(@ Rummindei pillar inscription)

(3) Kalsi pillar inscription
(4) Vaishali pillar inscription

Consider the following statements :

a.  Humayun brought famous painters Mir |
Sayyid Ali and Abdus Samad from Iran

to Delhi. _

b. Jahangir's reign is considered as the
‘Golden period of the Mughal painting’.

¢.  During the reign of Jahangir, European
painting was introduced at the Mughal
court by the Danish merchants.

Which of the statements given above is/are

incorrect ? :

(1) Statements a and b

(2) Statements band c

(3) Statement a only

{ (4) Statement conly ) |

Which Mauryan officer was the incharge of
Weights and Measures ?

(1) Sulkadhyaksha

(2) Samsthadhyaksha

(8) Pautavadhyaksha ) |

(4) Panyadhyaksha

o

DES A
R080HS Srpd
- ‘9050, T782% SHBAKW P’ @I (Sod
27 58 e BOS' eodoryio ?
(1) B&rsen
(2) TN
LB e ]
@ 2adbe
808 ®FHY D TITOS 6 00D

O3y 2 eoraho BeD DAWE S0e%y
SNOBDA0RD DD ?
1) Srhy Vo TS0

| (2 é&bg’o%& R0 TR0 |

3.

(8 $8) Q02 TS0
4) BFO Q02 FTRJ0

808 D8O HBKSosod

a. SOSTOS (DD DSSHBS Nb
20956 @d HOA ®WD HDHEOD
A0S $0d ADE BRI ).

b. 2506 dos ‘PSS  Doawotdof
T0Ey 058 cSwiio’me HBdsotacieod.

c. 2508 TFoSS, @RAA  TEROHD
oS sydos  orBHoHd
2000300 & (DSF .

238 BN (HELS O DB/ $E57VD ?

1) 1D%5e a HBA% b

@) D% b OO ¢

B  DELS a S|

@) D30 ¢ TS ]

4.

D 65 OO SrdEen SHOAN Fodesd
255 S0t ? .

1)  Derposs
2) DT EsE.

[ B) DS ) )
(4)  dersdHss




)

5'

7.

_

-

STEFTE SD0DY T dFroso B
NOVOBODID ?
(1) SRJOHS Qo
(2) #dso
@) i’ 3 DO : )
4) TIoo

808 8BS FIIGHD (TrahD HVSo
DA?

(1) |DODSE
(2) O 59
(3) IrS0d
4) sdoa8 ]

i)égﬁoﬁ VLS HoSH Ho0H0D - 806

?

AAY erd 56)d% 17956 Borrs,
AIE HOOD 2.6 |HIF DTS,

(1)

20 2SS Brn8 abhasrdenm
(DEBoD0S HOAM TBDSg THEN
2I50E08,

20 2 A6 50" (D V8 Todvatod.
Brarswedy BOordid o
QPovotsB0s.

(2)

3
(4)
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5. Romaka Siddhanta written by Varahamihira
deals with : .

(1) Chemistry i

(2) Mathematics

[ 3 Astronomy |
(4) Medicine

6.  Which one of the following books was not
written by Harshavardhana ? :

(1) ., Priyadarshika

(2) Ratnavali

(3) Nagananda

[ @ Kadambari )

7. Which of the following statements is
incorrect with reference to Permanent
Settlement ? i
(1) It was introduced by Lord Cornwallis in

Bengal, Bihar and Orissa in 1795.
(2) It declared Zamindars as the owners of
the land and they were given hereditary
rights,
(3) It was planned by John Shore.
(4)  The amount to be paid by the landlords
was fixed. 8.
8.  Match List I with List II and select the correct
answer using the codes given below the lists : |
List1 List II i
(Delhi Sultans) (Reforms)

a. Muhammad bin I. Branding of Horses
Tughlaq i

b. Alauddin Khalji II. Token Currency

c. Itutmish L Development of

Irrigation

d. Firuz Shah IV. Introducing Silver
Tughlaq Tankas

Codes:

a b c d

() I II 111 v

2) 1II 1 v I

@ N |

(4) III v I 11

e 1 HBW 2de IT ©% BSHSSB0
o500 808 DI T8 38 wons
QPR D80S0k :
adel ardell
(3D verS) ( D05y Sevev)
a. s S SIS 1. Hore zrod
b. @erHdS II. &3S $83)
c. PR L. JB>Scsed
IANDI
d. 98rF areéoil§ IV, JesBéros
D8BALO
NSrgraren :
a b e d
1 I 11 I v
(2 I I v 11
M | 11 I
@ -m W I Il
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9. Among Ashtapradhans of Shivaji, the|9. 3T¥ T VJVFOOS, FE-3-TaS
Sar-i-Naubat was associated with which of the §<_>‘5 D HIE edwoHowiod?
following tasks ? (1) 08 o
(1) Finance Minister (2) Dsedssoch
(2) Military Commander (3) B0l 2650,
(3) Foreign Secretary (4) BISrg ol

(4)  Revenue Minister

10. D& 1 H6050 D& I &b 23830
oo 1808 ADYS TBS D6 eond

10. Match List I with List II and select the correct JSF R HOOB0S :
answer using the codes given below the lists : D] el
El:zzfxtfiérs,l ?I;Setvgt Centres) fansben) (;idc);?ci};dﬁ
il A v a. %855 RO L o8
b. Hazrat Mahal II. Delhi b. :5,@ & S I ad
c. Nana Saheb III. Arrah, Bihar & R S I eso, HE
d. Bakht Khan IV. Lucknow d. aﬁ oS 1v. og‘l
Codes : DSrgraren :
a b c d a b c d
B I 11 7§ G Lt s (1 I 11 I v
2 ik I v 111 2). it I v 111
(3) III v I I (3) I v I o
7R AT (B 1 T s k| 1
11. The All India Trade Union Congress (AITUC)|11. &8 20Acr (B8 ordohd soii®
was formed in Bombay in 1920. Who presided (AITUC) 19208° Soerans’ FrHodadod.
ovetiki Brat saaniin? TR0 BN JrRTRE DB @ﬁﬁ&ﬁé
(1) N.M. Joshi ik S
(2) {Ehala Lgipat Rai gi jfef ;::% o"o%
(3) CZR.Das | m
(4) Subhas Chandra Bose @ D Sod 5
12. Which Ac¢t introduced the Communal 12. S 580 I)JéL;‘J‘&nJég&‘: aDK),}ﬁC) 555‘9‘63
Bieagy fystam 1 B35 0b? e
(1) Morley-Minto Reforms (1) 00-0L NO0K0eN &+ e

Montague-Chelmstord Reforms
Rowlatt Act, 1919
Government of India Act, 1935

(2)
(3)
(4)

otn- Q
Teéd &0, 1919
2 Ged (H20ed s téyO, 1935

TSRS
(3)
(4)
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Consider the

following pairs regarding|
Carnatic wars : : 5

Wars Associated Treaty
I. First Carnatic War Treaty of
il Aix-la-Chapelle
Il. Second Carnatic War : Treaty of
Yandabo
III. Third Carnatic War : Treaty of Paris

Which of the pairs given above are correctly
matched ?

(1) 1andll
(2) 1l and III

(3) IandIII

14.

ATy
‘::is.;'_

@&
80738 ODFORH  H020800 808
- 2S0® H0edotod : e
alvgrey :D0GS 2.09,)050
L 3BS85 ¢ wbyeon-on®
oo 2D)o%o
II. Bochs §oy 638 - A0S’ 2,080
- oo .
L Sresss omy 688 :

OR 20 d0
s\ inlel -
28 2D BSOS’ DD HOT HONFeron ?

@) 15801
: '(2) I S5808w 111

{4) None of the above

(3 I08csw Il

The Vaikom Satyagraha which started in

Kerala_ was associated with :

(1)  Eradication of Child Labour

(2) Temple Entry Movement

15.

(3) Women’s Liberation

(4) Vaishnavite Movement

What was the code name of the Indian armed
forces operation to lii:erate Goa, Daman and

Diu from Portuguese rule ?

(1)  Operation Kiran

(2) . (-}peratiqn_ fiiay e ]

(3 Operation Rajiv

4) Operation Pawan

14.

15.

(1) I 5

¢S oo BED dergiro B8
- R0VOHODSE ¢

1) 2o 58500 A& o

. @) eé)cﬁ) (2938 S50

@ S8rem Ding

4 RS &S00

_ﬁf;*,'mﬁ)rS :nﬁoﬁn SArEO AN

 DOS D08 DS0§ TahmdE ards

oW Svren THS eHTAS &6 5%
Aes ? |
() @HBAS 855

2) &30S =D

@ ©5BLS oHS

) eHBAS D35S

B S S e e
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16. Match List I with List II and select the correct
answer using the codes given below the lists :
List1 List 11 |
(Governor-General) (Treaty)
a. Warren Hastings 1.  Treaty of Salbai
b. Lord 'Wellesiey II. - Treaty of Bassein
c. Lord Minto-I IIL Treaty of Amritsar
d. Lord Hardinge-I IV. Treaty of Lahore
Codes :
a b c d
sy o v
2) II I v III
@ m W Lo B
4 IV 111 I I

17.

Which of the following is not a Harappan

site ?
(1) Sutkagendor

(2) Surkotada

(3) Sohgaura

18.

(4) Rakhigarhi

Which of the following inscriptions mentions
the names of Vedic Gods Indra, Varuna, Mitra
and Nasatyas ?

(1) Mansehra

(2) Shahbazgarhi

(3) Boghazkoi

(4) Junagarh

(8)

S5 e 5B e TE o it &

5o (808 @S FBS N8 ewd

JBEraR), HhBotsod
ardel adee 1l
153816 8868) ROR)
a oBSINoRy L . deryondod
b. erd IBD IL  20)S 008
c. &8 Mo& I 0808 Hod

d. e S*Qoh-1 IV. erourb dod

17.

(1)

Rargrare :

% a b c d
(A d 11 I v
P v m
@ v I II
4 Iv III I I

208 F8S HoF) (HE¥0 VB I ?
SoerREEE ‘

2) JrTercs

(3) For O

18.

(2

@ oD

806 FE8S’ d TI80 3¢ BISBS BOLS,
SGE, DS HOA RSO DED

28,08 ?
1) DI

arares i

@) DE 0 )

4) =8
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19.

Which one of the following pairs is not
correctly matched ?

(1) Babur — Battle of Khanwa
(2) Akbar — Battle of Haldighati
(3) Humayun - Battle of Bilgram
(4) Jahangir -~ Battle of Chausa

20.

Arrange the following events in the correct
chronological sequence :

I. * Cripps Mission
II.  Gandhi-Irwin Pact

(8)

19.

20.

(£ .

806 z80S" DB HOT HoFOT ?

w () arab - Sers Ao
2) %56 - s osno
(B) JOIrANS -~ DS oo
4) =5ond - T o

S08 JoNOIOD IBS TOESTHIE0

C @8 )OR :

L 83)AS
IL  mod-a85S 25080

L §6-F0° HoHerS

HI. Chauri Chaura Incident IV, Faradyodo \

IV. Poona Pact (.1.:) I I, 11, IV

O IOV (2) III 1I, rv; 1

@ HL e ¥, 1 3) IV, L HL 1

(® IV, I, I, II S LIV, T 1

@) I Al 121, 806 O BGo orsor KSELE IS &
21. By which one of the following Acts was the Bordad s (866 assSr

Governor-General of Bengal designated as the QODDOTTE ?

Governor-General of India ? () BrHsBe30h 580, 1773

(1) Regulating Act of 1773 @ %6 5O, 1833

(2)  Charter Act of 1833 (3) 2rde |D2ed s 58O, 1858

(3)  Government of India Act, 1858 4) z;rdé (23206¢b ¢ 5830, 1935

@ Segrmsateind i Tuis 22. r88330 J|E) SodoErie  seod
22. During India’s colonial period, the Downward (elals Nalvss o0 B8

Filtration Theory was related to : RODOHODSD :

(1) Railways 1) BSgen

(2) Education @ 253

(3) Irrigation 3) JIBFBHGBe

4) DSBE AE™MOS

(4) Poverty alleviation
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23.

Who said that “a single shelf of a good
European Library was worth the whole native
literature of India and Arabia” ? '

(1) Thomas Babington Macaulay

(2) William Jones

(10)

23.

“2.5 0D CLTrTRANS Bl2d By, VoS
0S8y rESEio OO0 ©BHOITSD
Fnso FOE e S0 AeIIE” @
DSS Tary&d ? :

(1) DR 2rdols DS

@ 200 &5

(3) Henry Colebrooke @ W ESrs
(4) James Mill @ BHydS
24, Which of the following is not correctly |24. 808 &3S DO HOT OB ?
matched ? ‘6096 “555
Organisation  Person (1) DS ISS - Brod 0. Heerd
(1) Seva Sad — Behramji M, Malabari
iy g g @) B 020 — oSS 55
2) DevaS i — Radhakant Deb R
@) _Deva b - (8) D AIWVB - HoAE FBLOH G
(3) SevaSamiti — Pandit Hriday Nath Soo»
Kunzru !
4) adved - SHPoBTY T3S
(4) Bahujan —  Mukundrao Patil BHAF20
Samaj
25. Who among the following introduced the Blue | 25. 808 68 r TOB FOVD ISH
Water Policy ? | _ (DIFDETE ?
(1)  Alfonso de Albuquerque 1) oHS') & @)
(2) Pedro Alvares Cabral 2) —?-‘)Lg wer s8R SrS
(4) Nino da Cunha @W S @ S
26. Lottery Committee (1817) of the British Rule |96, 3% arexs Ghogy eresd $2ue§ (1817 B8

was related to :

HoOAOVINE ?

(1) Eradication of Epidemics (1) @O0LNT LR AT
(2) Revenue Settlement (2) BIdeg 1EIB065
(3)  Town Planning (3 e @’)wéé

(4) Education

4) D
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27. Who founded the ‘Indian Society of Oriental [27. 2rSSZHOSD (DS & HOBTATOD
Art’ to revive ancient art traditions of India ? - ||~ QIHPOOIETE  ‘WoBAHS D eH
(1) Rabindranath Tagore 2000086 EQ’D AN TeH] @'bom'd)?
(2) Abanindranath Tagore ) 80T oiird
(2) @mﬁo@&mm
(3) Dwarkanath Tagore
(4) Debendranath T i CJ,S&gW& DR
e ik 4 T30 oiird
28. Who among the following had resigned from
e W : 7 . 128, ZOAMS Tererf SrER50SD BV
e Viceroy’s Executive Council protesting g
Jallianwala Bagh Massacre ? $08 58S’ I B T0Ey PSS
g SIS 08 T Ta ?
e (1) 30858 Tronb
(2) Saifuddin Kitchlew @) ?Q?{a@rs 835
@) Satyapal @) JS>S
(4) S.N. Banerjee @ IS B
29. Which of the following pairs is no# correctly 29. 808 zSeS O DO HBF OB ?
tched ? :
i _ 1) 0dPHB - 3B HoNs @b
(1) Aligarh . —  Sir Syed Ahmed &350 arsS
M t Kh '
o . i @ pp# - 5% H60HSer
(2) Faraizi —  Haji Shariatullah &80
M t ———
— @) S0 - Onb &b ol
(3) Tayuni —  Rashid Ahmed &C5800
Movement Gangohi
= p— - ~ @) o©FBSr - QP hero oims
(4) Ahmadiyya -  Mirza Ghulam &S50
Movement Ahmad
30, 1850 ©5) S8 &08 H020800 808

30.

Which of the following statements is correct
regarding the Lex Loci Act of 1850 ?

(1) It prohibited child marriage below the

age of 14.

(2) It extended the prohibition of Sati all

across British India.

3)
property to Hindu converts

Christianity.

(4)

It granted the legal recognition to widow
marriages.

It provided the right to inherit ancestral
tof

TS’ DB (DELSED DA ?

D 20 14 HSDH oy dFTOD
ARQ0N0A.

2 20 D8 ;ES8TI0 @ostr IS
QR ANBoDOA.

B 2 1B HSoSE Ir88
TONHOZ 38 s%0e LTSI
B gorr ol B0y
@0OH0N0H.

4) 30 JS0eh JITIOH BEYJEDS
HB0 YD Y0A.
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SECTION B
Geography

31. Consider the following statements : -

L

IL

According to Continental Drift Theory,
about 150 million years ago, Pangaea,
the super continent, had split into

Laurasia and Gondwanaland.

About 65 - million years ago,
Godwanaland further broke up to give

rise to other continents.

Which of the above statements is/are correct 7

(1) Statement I only
(2) Statement II only
(3) _ Both of them 1

32‘

33.

(4)

None of them

Identify the incorrect statement :

(1)

(2)

3

At the focus of an earthquake, the
energy is released.

The point on the surface nearest to the
focus is called epicentre.

Epicentre is the first one to experience

the waves.

(4)

" Epicentre is a point directly below the

focus. =

Granite is a/an :

(1)

Extrusive Igneous rock

(2)

Intrﬁsive Igneous rock

(3)
(4)

Mechanically formed Sedimentary rock
Mechanically formed Metamorphic rock

VES B
&

808 (DELSOMN HBKEIoTHON :

I.

IL

POSBVIOS VF0S0 (N5°G0, S
150 O Joddyore (8o,
OB IO o] SHdEpodso,
B HOA Fomsareros e
™ AAIFON0D.

QAFH 66 WOOHA  Dodedhyored
80, Fomrsorerod xsd mocre
DoPNE OB BEr  HBoST
DEFON0D.

2 PDEOSOS DB/DD HBID ?

1
(2)

(IS I Sv(ebad
(DS I Sr(edd

(3)

Oocar = ]

32.

33.

(4)

20

857D 1555 HBoBOG :

(1)
(2)

3)

2800778 I, #5 DB 8908,
BrE0NTY 0B HANOS'D
GOS0 &) i)ocsz_)@@
@OB0(S0 @OoErd.

eSomren I3 edHBodo &
SEoEOw. :

(4)

BHBOI0 ©TO HrEodT"DE o
ADSS 0B Bo(do.

(1)

RS I

&@ed ©f)3®

(2)

@083 eofi) e

(3)
(4)

ASTO|BE0MT DEIBS BB D o
OSrolB50r B )ES Erroes 3o
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34. Match the following : 184, 800 &R SO Y0L :
List I List 1T a1 zdell
(Landform) (Geomorphic agent) (@070, 5¢0%90) (2070, $E0%5 5°880)
a. Delta I. Waves and Currents a. @Y L &domren O
b. Cirque II. Winds (Darasen
c. Cliffs III. Running water s e
c. §9) L (HS&roT A
d. Sand Dunes IV. Glaciers d. zsemen V. SrsrdSoren
Codes : Rarraren ¢
a b e d a b c d
l ) | IT III v 1 I II I v
2) -1 I v 111 (2) "1 1 v 111
(3) 1III I v 11 (3 I I v 11
@ | v 1 1 4 m I I II
85. In which of the following layers of the!|35. Bee) 808850 Hod (DIZ0DVGD YD,
atmosphere do meteorites burn up when they 808 BIDAS D TTI8R oS
enter from the space ? s Sferon ?
(1) Mesosphere (1) D esS5800
(2) ﬂermosphere i (2) 2 S00
(3) Ionosphere 3) @OSrS e300
(4) Exosphere 4 855560
36. Match the following on heating and cooling of |38, >e3800 JBE50 HOA IVHBEL0 D
Atmosphere : 808 3D HONeY0A :
List1 List 1 arde ] zrda Il
(Process) (Mechanism) (555) (D50)
a. Advection I. Horizontal heating a. &J Do L 882 35708
b. Convection II. Vertical heating OO0
c. Insolation II1. Direct heating b. &R dosrdo I &g &dS0
d. Conduction IV. Heating the lower - dRe0 11 158, &DS0
layers d. & SIS0 IV. &% &rdexn
3BY) %0
Codes: SSroaren 2
a b ¢ a b e 4
ol o Rl W W
2 1 I v 111 (2 I I v I
@) ATk o W e @ M I AR |
O Gl | R 1 W g it
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37. Consider the following statements : 317.
L Kavaratti is the largest city in

Lakshadweep Islands.

II. Nine Degree Channel separates Minicoy
Island of Lakshadweep from Maldives.

Which of the above statements is/are correct ?
(1) Statement I only

(2) Statement II only
(3) Both of them
(4) None of them
38. Match the following :
List I List II
(Ocean Bottom (Characteristic
Relief) feature)
a. Continental I. Presence of canyons
Shelf and trenches
b. Continental II. Associated with
Slope active volcanoes and
strong earthquakes.
c. Deep Sea Plain III. Presence of massive
sedimentary
deposits
d. Oceanic Deeps IV. Presence of fine-
grained sediments
Codes :
a b c d
(1 & 1I II1 v
2 H 1 IV I11
(3) III I IV I
(4) 1III v I II
39. Identify the correct arrangement of the

following water bodies as per their salinity in

decreasing order :

806 (DL DOHBOSOS :

L o885 8308F 5568 o8
Stido.

I. SO A T3S oiHHSD
HFAD B D) Srdye Hod S
BROA.

D (DELSOS’ DO/ HBI ?

(1) (H5OS I Sressd
(2) (DSOS II S
(3) OBockr
@) 0 5%
88. 808 o3 V8 YOR :
zrdes | ardee Il
(WSS (DPa ©Ee00)
) o) E°eD)
a. POANEY L emrgrensdon
20t e e s
b. odassy 1L 8osrie
e @) D8 s8°e HEAW
DO rFoTed
DoVoGHo OR
- Tola M)

. ®mre dSw 1L 276 @S5I DEJro
DETSO &8
d. H500EY V. &r€) Bengod

&0 5B ST e a8
Sdrpraren :
a b c d
(T II m o N
@yens | v .S
® . 1 v . H
(9 m IV I I

39. o8 oSBohe 1H5°50, SPHeS) EHos

808 8 ISBO  IBS 905D

(1) Lake Van > Dead Sea > Great Salt Lake H8oBod :

(2) Dead Sea > Great Salt Lake > Lake Van 1) S8 % > B0 0 > (16 6 S5
(3)  Great Salt Lake > Dead Sea > Lake Van 2 BE>OY S8 > T oS
(4) Dead Sea > Lake Van > Great Salt Lake ® BSIQTE>TER>SE xS

@ BEH>BE>S>HES>HSE
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40.

Which of the following mountains are young
fold mountains ?

(1)
(2)

The Appalachians
The Aravalis

(3) The Alps

41.

42,

(4) The Urals

Prairies are the temperate grasslands present
in:
(1)
(2)

The United States and Mexico
The United States only

(3) The United States and Canada

(4) Canada and Alaska i

The part of the Himalayas between Satluj and
Kali rivers is called :

(1) Punjab Himalayas
(2) Kashmir Himalayas
(3) Himachal Himalayas

(4) Kumaon Himalayas

43.

The Eastern Ghats stretch from :

(1) He eadahadi valloy .o Seslarhali N

hills
Mahendragiri to Seshachalam hills
Mahendragiri to the Nilgiris

(2)
(3)

(4) The Mahanadi valley to the Nilgiris

Which of the following river forms the
Dhuandhar waterfalls ?

(1) The Mahanadi

(2) The Narmada ]

(3) The Indus
(4) The Brahmaputra

(15)

.40.

41.

42,

(2]

808 T3S’ D B D IDS SwBS(SD)
PO g&°e ?
(1) @J)BIAANNY
(2) GOSN

EO A

@)  oo0)

128w JHASY  HG  Zrsmen @y

GO0 :

1) o0 Jodw olaren HOAW
8yE

2 O HooNE TFlaren S

(38) @B JoainE o  HBakn

200

@) 330 00 e

I HOCH TPV SO HGBF &S
STAOIOII® 2T @eR) DENTAD :

1) Dozd TFreairen
@) 535 FSrociren
(8) SFArtS arSreairen

(@) BIrSS Srareociren

D) E0en 8 DHoB EE 6%
AVBOD GT"Y oW !

1) HTFSA S'aH Hod Freo Fodkse
SBE

TTOISAE H0d Fardeo Sode
oM

S7erOlA 0B DA SBE

2

(3)

4)  DIIE SOH oS dAB SB%

2808 I8S° D SO Forrd zoOFER)
G0 ?
1) DFSE

2) 00 ]

3 Do
@ @I
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45. Pre-monsoon Mango Showers are common in|45. GSDITOH SN0 DT ST 2BEVEW o)
the coastal areas of : FF 85 [romrS Fordomr SEaron :
{ () Karnataka } LD sgres / )
(2) Tamil Nadu (2) SF D
(8) Gujarat 8) Hzoe
(4)  Andhra Pradesh (4) So|BHBT
46. In India, very deep black soils are foundin: 46. FOSTIOS, T SBS I Toen B¥YS -
EQDTOW !
(1) North-Western part of the Decc -
Plateau (1) S5HS DoFrd g G8s
(2) Eastern part of the Deccan Plateau DBIN(TAY) artio

(2)  BELS DBTTY S 2rK0
(8)  BELS BT TE), S8 e o
4) OES BT T, estiyad Ko

(3) Southern part of the Deccan Plateau
(4) South-Eastern part of the Deccan Plateau

47, The most widespread forests in India are :

47, EST30S 050 DSBS chHen

(1) Tropical Evergreen forests 599

(2) Semi Evergreen forests (1) S2205e Deses O ethyen
(3) Tropical De:ﬁuous forests @) JEEDHSS O each Q o)

(4) Temperate Deciduous forests (3) BRDOGBO SHOB) ebIen

48. Match the following : @ TR Hode eHTS) eden

L;é*:” ) ?‘;‘H 5. |48, 806 e3Q 0N YO -

(River. rigi . J P
a. Vamsadhara I. Nallamala hills (58) (23)500)
b. Machkund Il. Nandidurga hills a. Jodrs L dodHe Soden
¢. Gundlakamma III. Jayapur hills b. Srdsodk I SoO% Sodhen
sits e c. HodEN; II. 220936 Soden
. Pennar . Mudugal hills & B B Sl
Codes: . srprarey :

a b c d a b c d

(Hi=g 1I ITT v (1 I 11 I1I v
2) XX 1 v I (2) 1I 1 v I
(3) IV III 11 I 3) IV III II 1

(4) III v I II (4) III IV I I
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49.

Identify the incorrect statement :
(1) The geographical extent of Laterite soils
in Andhra Pradesh is very limited.

Laterites are formed in semi arid an
low rainfall regions.

(2)

(3) Laterites are less fertile and appear red

(17)

49.

(Al

DO (D8O H8od0s :

(1) solPWBTS s Soo TS
4 e DBeSO.

2) ©F HAY, HOA S$¥0)S SPIS0 &)

oS er&BSen A8 yceEran.
(3) o006y  otre WZSJ
DO DB DHBAW DY DY

and yellowish red. S0t EDBan
(4) Laterites can be used to grow Mango, @) B, SAITDWE SHe DoSEIS
CishownubgieRarys OBEOD GHT/AOBID).
50. Match the following : 50. goa T HOFF 0B :
ListI List IT Bnas 1 2
(Scheduled Tribe)  (State/Union o e
Territory) (&P S (0 820! Fo(drdes
a. Gaddis I.  Sikkim (°050)
? r& | <
b. Jarawas II. Jharkhand | ; (@ i e t\3§2r05
c. Santhals III. Andaman and = il o
Nicobar Islands c. do&S I 90855 DO
d. Bhutias IV. Himachal Pradesh J82rb Byen
d. Sre30sr IV. Srsrod (HE5
Coltag JSrerares :
a b c d a b c d
GIES Y i m ), i1 I m
_ . . B AR
@._K ! S v T ] )
@) I Mool I S+ o 3 4 I 0§
(4) 1III v I 1
' 51. 808 |D¥LSO HBHEIo0s
51. Consider the following statements : I SSDIT N BT (rPaE DST e,

I.  The monsoons are primary winds.

II. The monsoons are confined only to the
tropical lands lying between 20°N and
20°S. :

III. Distribution of rainfall received from the
South-West monsoons is governed
mainly by the relief of the country.

Which of the above statements are correct ?

(1) IandIl

(2) landIII

(3) MHandIlI

4) I, Iland1ll

I SHedsaren 20°N 005w 20°S &S
&S) GRDOBOErOFTOR S
HOMST GOLFON. :

B0 S S wen JhS
BeHITe Hod IT) S8
DRBEID DGO (H2FNS0 T OW.

II1.

D (DELSOS’ DO JBIA ?
(1) 15080 I

2 1605 I

@) 1000w III

(4) 1,11 805 I
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52. Match the following :
ListI List IT
(Functional (Example)
classification of town)
a. Mining town I.  Jamshedpur
b. Industrial town II. Ankleshwar
¢. Administrative town III. Udhampur
d. Garrison Cantonment IV. Gandhinagar
town
Codes:
a b c d
(1) ¥ II 111 v
@) -II I v 111
3) IV . I I1 I
(4) I v I 1I

53. Which of the following oilseed crops is grown

as ‘rabi’ crop only ?

(1) Groundnut

(2) Mustard

(3) Sunflower

(4) Sesame

54. In which region in India was tea plantation

started in the first half of the 19! century ?

(1) -Brahmaputra valley

(2) Darjeeling region
(3) The Nilgiris
(4) Cardamom hills

52.

53.

[A]
808 e300 H8 0B :
e ardee Il
(D@ere (Salres )& (G O°Ce3)
IPSCe)
a8 AQoESSE o I Bon&YE
b. O TS0 1. ©oESEs6
c. DOFOS 20 1. &¢0d6
d. SE0% VDIEDHTE V. rodSins
&0
Sdrpraren
a b c d
{1T8] I1 111 IV
2 I I v 11
@ IV III 1I I
(4) III IV | I

1808 Sr3foze HotersS B B Hoerrr

ST DoAY ?

(1) J&ISK

(2) eaIen

(3) PSSHE

4 Ysen

195 R (Do rES8TE0STD
D ([rogosS BorH Swo DOHTR)

rSodord ?

1) RIS S0

2 @@dof rosso

3) Deftven

(4) diredve Sodien



GS/2G/200

56.

56.

Match the following on industrial clusters
developed by APIIC Ltd. in Andhra Pradesh :

List I List II
(Location of the (Type of
Industrial Cluster) Industry)

a. Gandrajupallein I Silkand
Chittoor region Garments

b. Kopparthi in Kadapa II. Engineering
region

c. Makavarapalem at III. Aluminium
Visakhapatnam

d. Machilipatnam IV. Jewellery

Codes:

a b c d

Ey- 1 II m v

@ -1 I v III

3) IV 11T II I

(4 I v I It

In which place in India was the first cement

plant set up in 1904 ?
(1) Mumbai (Bombay)

(2) Chennai (Madras)

57.

(3) Kolkata (Calcutta)
(4) Pune (Poona)
Which one of the following states is not

connected  with  the  Hazira-Vijaipur-
Jagdishpur (HVJ) gas pipeline ?

(1) Uttar Pradesh
(2) Madhya Pradesh

(3) Gujarat

(4) Maharashtra

{19}

55'

56.

o BHBTS’ APIIC ONBE ©dS9O TS
1808 8|S ERBOD O YOG :

ardes ] & eIl
(O T 5HE (567D &50)
&S)

a. DEFdD (@rosodSD I H&Y Hdaw
oS NGRSy

b. ¥45 | ossoS’d I 202600
§5)8 |

e ITPpHe0o S 1L eersdIoHo

~ rE¥ardardo

d. 2080 IV. dfex

D SFRTED :
a b c d

) 1 18 III v

2) 1 1 v II1

(3) 1V 11X 11 I

(4) II v I I

arsesBioss Bsed Do FoS 1904’
D DTS’ FrdoB0E ?

(1) SN0 (23702

@2 BT D)

57,

(3) ESier (Soia)
4) B )

208 o lrod’ 28 FE0-J2cHYB-8HbR
B (HVD) 30 DOBSS
9000 DA T ?

1) &S DT

(2) HGUDBT

3) HzoS

@) HItoTIR
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53._ Bilaspur is the headquarters of which of the
~ following Railway zones ?
(1) South Eastern
(2) East Coastal
(3) East Central
(4) South East Central
59. Match the following on mineral resources of
Andhra Pradesh :
ListI List IT
(Mineral) (Place in erstwhile
districts)
a, Manganese 1. Forest areas of
Visakhapatnam and
East Godavari
b. Bauxite II. Garividi in
Vizianagaram
¢. Mica III. Jammalamadugu and
Mydukuru in Kadapa
region :
d. Limestone IV. Nellore Region
Codes ;
a b C d
@) IT III IV
2 1I i B ami
@) IV III II I
4y I v I II
60. Match the following tourist spots of Andhra
Pradesh :
List1 List 11
(Beach) (Nearest City/ Town)
a. Suryalanka I. Narasapuram
b. Manginapudi II. Ongole
c. Kothapatnam III. Machilipatnam
d. Perupalem IV. Bapatla
Codes ;
a b C d
(1) 1 11 I v
(2 1 I v III
i @& W I I )
@ I v I I

59,

806 2 BBg &S
. 500000 ?

(1) esfhoH

(2) &rH) S
(8) &) NG

H Derdyb oS

O e 33s

S0 808 3D

69;’

SOHNBT P
V8004 :
e | arde Il
(@D250) sy 2’ Peo)
2. Srofdd L d7nen o H8akn
Sy )T’ evéod)
@ro&ren :
b. 2r8)¢S IL  Dedhdtsos K828
¢ D5 I ¥55 (rosos'D
ENVPISINV T Vg VN6 T 00
TS
d. Qudyyoron IV. Jerd (&rogo
LArErRreD :
a b c d
H .1 11 i IV
(2) I 1 IV I J
8 IV edl I1 I
4 I v I II
BOPDBISA dorsws WETeD  8od
e 80
erda [ arder Il
(©:5) (DD SiS01
' DPE0)
a. Ardgeosd L S&6rHso
b. HoASI A IL 208
c. FSHe)0 L 505830
d. DHIBo IV. 2rHéd
RSrEraTeD ; :
a b c >
(1 1 II I v
W e ¥ m
T T R 1 1] I )
(4) 1II v I II
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61.

62.

SECTION C
Indian Society
To eradicate child marriages, a unique data
driven approach like ALIVA is adopted by :
(1) Rajgarh district of Madhya Pradesh
(2) Wardha district of Maharashtra

(®

Nayagarh district of Odisha ||

(4) Warangal district of Telangana

A circular structure used by Zoroastrians for

excarnation or the disposal of human dead |

bodies through exposure to the natural

vultures is called :

63‘

(1) Dakhma ]
(2) Aparigraha :
(3) Sallekhana

(4) Shenshai

‘Diku Andi’ means :

(1) Marriage by exchange in Koya and|

Savara tribes
(2) Mamage by capture in Naga tribes
(3) Mamage hy probation in Kuki tribe

(4)

farriage by negotiation in Ho tribes

The ~online portal developed by the|
Governthent of Tndia for effective enforeement| s
of the Child and Adolescent Labour
(Prohibition and Regulatmn) Act, 1986 (which
was amended in 2016) is:

(1) SPARC

(2) SRIJAN

(3) YUKTI

(4) PENCIL

4

-6.1__-

{1 ®

P ©
208008 Fpd
aa‘og o AEmOosEE eds
(ALIVA) 3088 19853 Ter oo
DR, D) 930D &
(1)~ DSYHBIS'D o T K& 2
2 DHFTAS YT B

2ATO D voHb 2 )

@) Boorsd’d SSoid 2o°

162. TORHY 8o S SISFanST

D9BBTFen HPFIEAE B S
Sresen SO  Toden Hod

- ABoab zohPo wrdso Tabdo

elements and scavenger animals such as|

 §50 aHTIrAoDT S9TSE JTETR) DD
Denard: ;

(1) &7 )

:63.

(2) DN

(3) HSgrar
- 2TAD

‘&éo @0’ ®ot) !

1) Fob H005 358 BersS DASHO
o o° 261 DIEr0

2) T8 Bl edFdsn oot 200
TS0

@ %8 81 $6%~ (probation) e

. 280 Do

e ':357110) s coo@’)éo:ae) oo 5o

‘ (4) “&‘1:0,33 (PENCIL)

. 280 0

64 roe HA TS S8 (Ao &'nﬁo&n

Johosw) Do 1986 (A 20168
JSBoT ) &Xngsﬁoéom ©HeN TONGBO
00 23S (HENS0 O eSBS FES &
EEARRIAER S ToTa

(1) )8 (SPARC)

2) 328 (SRIJAN)

(3) o508 (YUKTD

4
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65. Consider the following statements :

terminating the ms;x:riage relatwnship
and allowing each partner tlienz.;ight ta
remarry’. .

II. The first legislation in respect of the
dissolution of marriage in India was
enacted in 1869, and is ‘Parsi M&mage
and Divorce Act’.

1L .The irresponsible departure from the
home on the part of husband, leaving

the family to fend for itself is called as|

~ ‘the poor man’s divorce’.

Which of the above given statements are|

correct?
(1) IandIlonly
(2). IIandIIIonly

(8) TIandIIonly

(4) Al oﬁf the above

Ravindra andSeema are husband and wife. | "

Krishna and Madhavi are children of
Ravindra-Seema. Madhavi is married to

Harish and J_yo'thi is the ...daugh_igr--_ of

Madhavi-Harish. Then the Consanguineous
Kinship is between : '
(1) Ravinilra and Seema

(2) Madhavi and Harish

(3) Krishna and Jyothi '

(4)  Krishna and Harish

(22} :

165, &: (808 (HEOSD HBKB00H :

I.  WP. Scott defined divorce as ‘an|
institutionalised ~ arrangement for|

L s AmS doHos Do
DoWOGR) By TOHENE HOAw
D8 BRrIDE HIOITT0 TFoHT
FELD o80T dogriis
DTN’ R NG IO .

I 2885506 D SH Jo20HoD
18698 ErSroB0AS DS &0
SO XE) daen OO
Do BLO'. :

O & 258 eonar arcﬁ,s'wébéow' 2083
508 ISR, Hoenoerd) &S
00 6B ‘B b DS
ﬁﬁ‘ 6y (the poor man’s _divorce). (279}
©O0Erd. - :

28 A0S DELSOS’ I HBSD?

(1) I8 IT S5
(2) T 805 T Sr(esad

@) - 150605 I Sr(eD

LY

8D H0C Hd arosdiden. o3
B0 SGDen  EDoB-dDL  Dge.
3D FBRD DFiro TKHod SHO
S IrPD-T8he $570. eH)E HESE
DO0LVESB 50 IO NG GOLNOR :

(D 3ol B D

C(2) SrED O8N R

@) €3 H0aw &S

@) 5330 H00%w D
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67,

As per the recommendations of the Sachar
Committee, which among the following
Muslim groups needs additional attention,

similar to that of Hindu OBCs ?
(1) Ajlaf
(2) Arzal
(8) Ashraf
(4) Shaikh and Syed
68. In the lines of Prohibition of Employment as
Manual Scavengers and their Rehabilitation
Act 2013, which of the following Robots can be
used to end India’s manual scavenging ?
(1) Kempa
(2) Vyommitra
(3) Bandicoot
(4) ManavSudh
69. In which of the following cases is it alleged

that the verdict of the Supreme Court of India
diluted the stringent provisions of the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 ?

(1) KC. Vasanth Kumar & Another vs

State of Karnataka

(2) Srish Kumar Choudhury vs State of

Tripura
(3) Om Prakash Mahajan vs State of

Madhya Pradesh

Subhash Kashinath Mahajan vs State o
Maharashtra

(4)

J

(23)

67.

B S DFHIO P30 & (808 D

* SN0 DFEVE arodyr OBCO Srddm

OB 3P 95080 %0 ?

(1) oD

2 ofd

(3) XD

@ D5 000 SoHd

STESE 038 FIO L0 SHBKH
0 YITTO WHo 2013 |Hs°B0, &
o8 88 d F55H &dTrAod
TESTE  STSS Y SoBok  GIHD

 HB0BS) ?

Boar
RYRVES

(1)
(2)

3 208508

@) SN

& 1808 TBS’ TS ordes DHOTY
ah) ErS) Heoo Hock XS
86 (Erdde JTSYH o, 19895
OIS DROBSOSD HeSS THOGD
eFnod0808 ? |

1) 3D, 3508 HEPE HOKD ASEHED vs
RS oD STE

BN K055 TG vs VS oD 18NS

20 D5 HDIBS vs VS &D
SGHDHTE

(2)
3)

t@

QPR TR RS vs O o
HJ*TY R
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70. The Shuddhi Movement to bring back the |70
people who transformed their religion to Islam
and Christianity from Hinduism was started
by :
(1) Brahmo Samagj
(2) Satyashodhak Samaj
(3) Ramakrishna Mission
(4) Arya Samaj
71. India’s first high-tech sports training centre for [ 71
Divyangjan, ‘The Atal Bihari Vajpayee
Training Centre for Disability Sports’| -
inaugurated on 2" October, 2023 is located at ;
(1) Rajkot, Gujarat
(2) Gwalior, Madhya Pradesh
(3) Ahmedabad, Gujarat
(4) Prayagraj, Uttar Pradesh
72. Under whose Chairmanship was a high-level
" committee on socio-economic, health and L
educational status of tribal communities of
India set up by the Prime Minister’s Office in
2013 ?
(1)  Dr. Joseph Bara
(2) Dr. Kamal K. Misra
(3) Dr. Hrusikesh Panda
(4)  Prof. Virginius Xaxa
73. Who stated that ‘I measure the progress of a

community by the degree of progress which
women have achieved’ ?

(1) Dr. Vina Mazumdar
(2) Pandita Ramabai
(3) Mahatma Gandhi

(4) Dr. B.R. Ambedkar

TOLT DB0 DHOB S HEBR) [0
B0 13RS HS0SE  SrchyBos)
PEos 888 Srodr Hsod’s
BHNTITAE DY GBI S
@rSodord :

(1) (27 S0

(2)  He$3TUE Hdrzo

(3) OTDEYR AN

(4)

8§ Q20

25 ©oFf26, 20238 Oarsohe  §Ho
DB0DoDAS  rESBEY NGB SES

owidd Sa e Sodo, B wad

D8 afwow Do Rowd  H6
ABDOS F 8y )¢ DB0B0B0D ;

(1) oFES, Hhao s

@2  3OHB, SHBUHBT

73,

(3) e rard, Hzos
(4) (DASrhoeef, aSSHET

ESTEOSD ABRS ST Jdres-esQs,
SO0 SO Doy PBHHOD G
Fad  E0SD 20188 (DHrSHHod
SOO0N0 D8 @IS o)
TR0 ?

(1) @§bSp o

2) b 50 3.

(3) rfb Syasa o

@) @ onb SQa0h0 S5y

‘argen FHoDS (DS PO 8 T
Az (IS Forrdrad ©d 3%
8% ?

(1) ©&§6 Do Herodserd

(2) Do&e Sareron

(8) DI rod

@) o306 D.eb. ©023¢5,8
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74. After a landmark Judgement on Triple Talaq in

divorce practised in Muslim society was
recently challenged in the Apex Court of India ?

(1) Talag-e-Hasan

75.

76.

(2)
3
@)

Talag-i-Tafweez
Talag-e-Ahsan

Lian

Which among the following IT initiatives
by the Ministry of Home Affairs facilitates

dissemination of information about siggiﬁcant -

crimes, including Human Trafficking across
the country on real time basis and enables

Interstate co-ordination ?

(1) Investigation Tracking System for
Sexual Offences (ITSSO)
National Database of Sexual Offenders

(NDSO)
Crime Multi Agency Centre (Cri-MAC)

(2)

(3)
(4)

Special Police Unit for Women and
Children (SPUWAC)

Who defined ‘Communalism as the political

assertiveness of a community to maintain its |

identity in a plural society undergoing
modernization’ ?

(1)
(2)
(3

Prof. Ram Ahuja
Bipin Chandra
Majumdar and Madan

(4) Robert Melson and Howard Wolpe

(25)

4.
2017, which among the following methods of|

76.

(&]

B35S Serfm 2017 HOBOTEEDS
8% ST, N0 JSrs0d’ ©HDB0T
oy IEHO  HPB  HBod adse
rESTE0S’D  wdid)s  TohFrdod
Jdaren ToHhadod ?

(1) Sers-2-os

Ser§-a-$ 5
Ser8-2-05%)S
OOH®

(2)
3
(4)

BIN0T  SrSS oIS Soerd O
SVPIS  FO®  HB0DS  dSrTTRY
ADIBEH I @OBOBEVE HOA NG
oare Q5 dHS300h0 TobaRs Soldd
D0 SgSSTre HolBss TR OB
(FE0DOBDAS IT GBS0 I8 ?

1) 23S 1Er8of 2P0 DB DHYSS
gI e (ITSSO)

TASS  TerdD oD
Ceg088) (NDSO)

(2) ENSS

3) (B ) DB RO (Cri-MAC)

IS ARE DB ADS @oh Y PS
(SPUWAC)

4)

‘BB SIHHG) IVIBS
J3320S 68 HB0HK TI;AOBITVS 2.8

Hoo  BE)  ozlah Sydedsd
E85858 20" @ DS AB DO ?

(1) (TFI6 o eJver

2 DHS Bod

(8) 2rord SO DN

@) o2f DS DB W S'6)
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(26)

77. The Dowry Prohibition Act, 1961 enacted by
the Government of India came into force from :

(1) 20" May, 1961
(2) 1% June, 1961
(8) 20™ June, 1961
(4) 1% July, 1961

78.

Consider the following statements :

|4

II.

IIL

In the 150 L(;ok Sabha the percentage of
elected women members in Lok Sabha
had crossed 10% of its total strength for
the first time.

The 17" Lok Sabha has a higher
percentage of representation of elected
women members than i;ef_ore and it is
the highest ever since the independence
of India.

The women members elected to the
Legislative Assembly of Andhra Pradesh
in General Elections 2019 was 11-74% of

its total strength.
The Women’s Reservation Bill, 2023

got the assent of the President on
28t September, 2023.

Which among the above given statements are

correct ?

(1)
(2)

I, IT and III only
I, IIT and IV only

(3)

I, II and 1V only

4)

II, IIT and IV only

7.

78.

oS (D50 SrFodoDS  S85E)
ARG RO, 1961 ID)BN0G @dens’s

S IARToTA R

(1 3D 20, 1961
(2) 2~31,1961

(3) 2"~ 20,1961

@ 278 1,1961

& (808 15N HOHEBoB0A :

L 1685 SE0SS A0)BS Sirer Habse

PS0 ISBFOr Bwso 56
D203 2008 10% e30d. '

IL 178 S8 0358 20088 Sirer

L 20ge (G50 fissod 50t oy
TS0 GoH OO rESTTIE
IBOB50  SDNS  Sdorses b
@ sHIomr God. :

IOL 2019 EIAE A)E0S eo(SHBT
TSNS Indo oo, INIS
N DaDgeD 11-74% &) .

IV. Soarer 828508 de 2023 JRod
28, 20230 U e 8IS0 Fo0H0R.

2P ADYS VEDoSS’ DD HBSD ?
(1) 1,11 8050 I Sr(ebad .
(2 I, I 805 IV Sres D

@) 1,11 58050 IV Sriedsh

(4) 11, III SH8asn IV Sr(edad
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79.

80.

Under the pressure of groups interested in
linguistic regionalism, the President of the
Constituent Assembly of India has appointed
the Linguistic Provinces Commission to report
on creation of provinces of Andhra,
Karnataka, Kerala and Maharashtra. In
which year was this Commission appointed
and who was it chaired by ?

(1) * 1948, Justice Fazal Ali
(2) 1949, Pattabhi Sitaramayya
(3) 1950, Sardar Vallabhbhai Patel

(4) 1948, Justice S.K. Dhar

Consider the following statements about the
Assam Movement :

I.  The Assam Movement led by All Assam
Students’ Union (AASU) was started in
the year 1983.

II.  The objective of the Assam Movement is
to identify the migrant people, protect
and provide constitutional, legislative
and administrative safeguards to the
Bangladeshi Migrants in Assam.

III. The Assam Movement was officially
ended on 15% August, 1989 after
coming to an understanding with the
Government of India which found
official expression in the Memorandum
of Understanding popularly known as
the Assam Accord.

Which of the above given statements is/are
correct ?

(1) IandIlonly

(2) 1Iand III only

(3) Il only

(4) None of the above

(27)

(]

79. ey ([ DOSHSD @D &Sy IS

LHASE, 68 oeriof O edsioey,
eold, $TO% T8¢ HOA DT A
O aAre D07)ED) ABAE a8 don s
ARV VAN oo, O
EDASDH D HoI$806° dAHOTTS
080D T8 DS @S &S Harotrd ?

(1) 1948, 290 HzS ©d
(2) 1949, HETD HT OO0
3) 1950, 3P S0zrdD HBHrS

(4) 1948, Z2QR V.38, 0

@V*)YO & 5N0 B0 &: 180H 1DFLIOD
20iedoSod

I a@d o) FBoL) BIrRodS
(AASU) Tebaes 505" @ar)0 Gedsedo
1983 0036 )50 (IS0 R0D.

II. @0 &S0 BwE) ©F0 S0
DB HOOHB0 HAH BJYoS'
ROMET SOITDOH) U250, TS
OO  AOVOTAEDS  SE oD
©OBOWE0.

I 2r8eh (HHS0 G Jsod 2.8
OIMTTIH SN  Sorgeh, @0
o ™ NG TodS ©HFToE
FEINT 306 S TR P To Ten To BV 1 vTo V-V IR
ST OI)0 GiEN0 dHsdior
15 estfQ), 19895 SnAVOS.

2385 AOIS IHELSOS DB/DD HBID ?

(1) 10805 IT Sreledsd
(2) 110805 I Sredad
(3) I Srledad

@) DI
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81.

82.

Consider the following statements regarding
the PM CARES for Children Scheme :

L The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 11" March, 2020 for children
who have lost their parents due to
COVID-19 pandemic,

II. The PM CARES for Children Scheme
inter-alia provides support to children
through approach, gap
funding for ensuring education, health,
monthly stipend from the age of 14 years
and the child receives a lump sum
amount of ¥ 10 lakhs on attaining the

age of 18 years.

The children who have lost their legal
guardian, adoptive parents or. single
adoptive parent due to COVID-19
pandemic are also entitled to benefits
under the scheme.

Which of the above given statements are
incorrect 7

convergent

III1.

(1) TandII only

(2) Iand III only
(3) IIand HI only
(4) None of the above

According to whom ‘the existence of strong
personal attachments and the fact of death,
which of all human events is the most
upsetting and disorganizing to man’s
calculations, are perhaps the main sources of
religious belief ?

(28)

81.

(a]

230 863 H6 VRS 580 HBoD & (E0b
(D8I HOKSosod :

L §8-19 SIS0 sée0rr
$DSohosn FSHows e o
ArB)y 11, 20208 2r3ed DRSO
D0 86y DB YOS I
rSodon.

II. D0 85) O RS dP%o orsor
VRO DI HDOBE D HB0%N SE
QSE0ST"ANOT WOBOBED sHrow,
DS, 8630, 14 J0SS 0" SoHD)
Do TJoard HoBD  HB®

18 J0S$)oren DodS DPH' NE
oS T 10 ©F e ©0k0d.

FAB-19 HIPSrB  sO@or 8
SOISDS  JoBEH, S
S3HS) $DGohey Bor 2,068
S8 SHS)  SDBOIEE®
FSHons Hwen Srme & H5%o 8o
(ArET O eoewn.

DS DS (HELIOS’ DD SEFWD ?

IIL.

(1) LSOk I Sriebad

(2) 180w II Sredsd

(8) II 8w ITI Sr{ebsdH

@) DIdTY

DOPS 3581 Do @8 HOSY
DER0 BT T30, SIS  HeadHo
©d50¢ S0 $ONOT HOAN eSO
GBP) AP OGN, DIVFT b
ATITVE DTS SSHew @D dSH
DTS ? :

(1) Talcott Parsons 1) reed ;OIS

(2) Emile Durkheim @ S &6

(3) Bronislaw Malinowski @ (BWYS :35'@'5‘:)‘3&
@) DS & 2argSond

(4) Simone de Beauvoir



A consensual and informal relationship
practised in accordance to matrilineal laws of

GS/2G/200 (29) Al

83. Which of the following Constitutional|gs, dBx H6ES° e Srde H8O0YH BSov)
Amendments provided rights for making JrersosS IDISTFEY) Shotdo HBkD
reloaxation of qualifying marks in any| . mo.d ARAGOS' 8B5S 0 ab)
examination (or) lowering the standards of 5 :

: ks DOAN AROF ONETOOM™ A0
evaluation and for reservation in the matter of i ¥
promotions to the public services of the Centre EraroBoBad8 (806 o Trarsoli dSSe
and the State ? TS ©OBROB 7
(1) 80 Constitutional Amendment (1)  80s orargofi D0e
(2) 82" Constitutional Amendment (2) 824 Oyl D0
(3) 89 Constitutional Amendment (3) 89S Trargoli D
(4) 93" Constitutional Amendment 4) 988 orargoll DSGe

: 84. OI08 20N (DdWiBen) (DIBraSo
Identify th ith which i
UMY e Soantiy Wik ¥R o TErdyer, Ho20800S Sofiods JHIso
Cabinet of India has approved signing of &% N ————
Memorandum of Understanding (MoU) for 4 G sl SAAPORAITO dnBC e
co-operation in disability sector that benefits| OSSO DN 208 Solts Ho@Go
the persons with disabilities (PwDs) ? &3rS0DS BEQ) HEotod ?
(1) South Africa (1) LS
(2) Germany @) 285
(3) Japan 3) =S
(4) Brazl @ @2d

85. & 1800 o8S $EES’D Soarad HBKD

OO DG Sy S |H5B0

Kerala that prevailed among Namboothiris SReo ©OAS00SRAS SOa
and Nairs is known as : OTHS 08 H0200 IO ?
(1) Sambandham 1) QOD0HO
(2) Pakulam Pathiravum @) 2900 H86:90
(3) Pranchiyettan 3) (DOAIDRS
(4) A8y B0

(4) Udakapoorvam
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Recently the Delhi High Court has upheld the
constitutional validity of a provision of the
Hindu Marriage Act which ‘prohibits marriage
between people who are related to each other
through ancestors from their parent’s side
unless their customs allow them to do so’. The
said provision was mentioned in which Section
of the Hindu Marriage Act ?

(1) Section 4(a)

(2) Section 5(v)

(3) Section 12(1)(a)
(4) Section 13(ii)

87. A Centrally sponsored scheme that aims to
achieve the objectives of child protection,
happy childhood and development under the
Sustainable Development Goals (SDGs) is :

(1) Mission Laalana

(2) Mission Bala Vihar

(3) Mission Balsamrudhi

(4) Mission Vatsalya

Which of the following was the custom

88.

practised during the ancient period that
allows married women to cohabit with a
designated male for the sole purpose of
procreating a child if her husband was
impotent or had died ?

(1) Apastamba

(2) Sikata Nivavari

(3) Pratigya

(4) Niyoga

(30)

%.

(a]

agdse seos’ &80 EY Sodr dadr
OPO g, ool TeNerdnsd
Do  Fodr T SRS
QAVOPS |D5°B0 ‘BSOSO By Hod
s orsor 2.885ES HoOB0 G
S5O $HEs T°0 ST BN $D)

DFITNV)  AAHY0A. ror DI
DO D ESS & oS

(DTDOBDR0E ?

(1) DES 4a)

(2) &S 5(V)

87.

(3) DES 12(1Xa)
4) DES 18(ii)

QRS @)@ ©F s (SDG en) §od dve
88, DOBAIODS W0 SHOAW
@S0 oFod JBosdo eofsor
2EPHD) SOl |FTrees HHEO !

(1) AN O
@) IS 7o IS
@) DAS TOJSNE

4) AS TSy

PUSS 500S" FES' HoBIBA IS
B 36 SANoL HOT NS08 Jardres
Ren SO  dsoshyen, Hosso
Forrod B aF508 JoHWoSDAS
DHDES S NN BoHETVE
NS0T BT GO OO ?

(1) edQ0
(2 VI QATTO
(3) (D3P

4) D3
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89. As per Article 164(1) of the Constitution of

India, a minister in charge of tribal welfare
who may in addition be in charge of the
Scheduled Castes and backward classes is
compulsory for which of the following states ?

L Madhya Pradesh
II. Punjab

III. Uttar Pradesh
IV. Jharkhand

V. Odisha

(1 ] I, IT and IV only

(2) II III and IV only

(3) I,IVandV only

90.

(4) II Il and V only

The comment ‘Devotion cannot'be. subjected to
gender discrimination’ was made by the Apex

Court in its judgement in the Sabarimala Case

and permitted women of all age groups into
the Sabarimala temple. Who among the
following middle aged women first entered the
Sabarimala temple after the Supreme Court

judgement ?
(1) Bindu Ammini and Jyothi Nair

(2) Kanaka Durga and Aadhishree

(3) Bindu Ammini and Kanaka Durga

(4) Kanaka Durga and Aishwarya Melton

(31)

oy

&

2SS oersotioS’d &8s 164(1) 19580,

DErS  Hereny O  IE2AS

| SEHBOZ BIOM 2rdse SSroT N6z

HDOEH TR HoE@ 808 2 oS

- S50 ?
| AEINTATS PTal ]
I doxd
L. &8 1533
V. zgob
V. o7
(1) 1,11 28050 IV S edad

@) I, T 30805 IV Sressh

3 IIV8a5 VSresd

(4) 11, 11 0805 V Sread

%8 Oolf DSFH HOSTErSLY’ @ 280
308" Ddo TP S35 adh)S agrdod
©) SoH)e Ao éaﬁr?o:& F28e
BOHOSE  ®HNBON0S.  NDOTE

88y S07 58 $20:500 30050658 Inderr

(DBBODS S SODXNYBS |V DS ?
1) Do @M HOAM e 5°oHd
@) E3% &% S0 O3

@) Do A HEA 558 Y

(4) &35 Y 0D nF 05 RS
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SECTION D
Current Affairs
91. Consider the following statements regarding | 91.

the 9*® Asian Winter Games :
L The 9% Asian Winter Games 2025 are
set to be held at Beijing, China,

II. The official slogan of the 9™ Asian
Winter Games 2025 is ‘Dream of Winter,
Love Among Asia’,

III. The names of the two tiger mascots of
the 9% Asian Winter Games 2025 are |
Yingying and Nini.

IV. On January 11*", 2024 the emblem
of the 9 Asian Winter Games 2025
‘Breakthrough’ was officially announced.

Which of the given above statements are

correct ?

(1) TandIIonly
(2) I and III only
(3) IandIV only

(4) 1land IV only

Which country was certified as Malaria-free |go,

by the World Health Organization (WHO) in
2024 7

(1) Morocco

(2) Cabo Verde

(3) United Arab Emirates

(4) Mauritius

PES D
58085 b,
98 edosr FErsey) Edenss Ho20B0D
&2 (808 (DELdOD HBEIoSod :

L 95 edosr Resod @den 2025
BoS'R HBAS® S erotsthEow.

IL 95 easr Fersrersy (§de 2025 B,
@508 G0 1A e Jobs, oS
@drofi &AL’ (Dream of Winter,
Love Among Asia).

L. 95 esdasr Fersredy (§de 2025 G
Boch BNG D0y D onofgoh
N0 AX.

IV. 23330 11, 202465 95 e &sed)
\dche> 2025 DIy 0 (Z81S
(Breakthrough) @&s* 850
(D58od2808.

2 DS DELSOS’ ID HJID ?
(1) 108050 II Sriesad

2) I H0as I Sresh

@ 1560w 1V S8

@) 1155805 IV Sr(edsdh

- 202465 (B0 es8s HoP (WHO) 58605

Bared (CDNEBE HED), & BHo ;OO0 ?
(1) Jwos

2 5539

(3) ANTDE 98B JTE)
4) SrOAR0
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93. Who among the following eminent|93.
personalities have been conferred with the
Padma Shri Award 2024 for their

94,

contributions and achievements in the field of
Arts ?

1. Drona Bhuyan

II. Ghulam Nabi Dar

III. Rajaram Jain

IV. Dasari Kondappa

V. Dukhu Majhi

(1) I,1IandIV only

(2) 1, 111and 1V only
(3) 1II,IV and V only
(4)  All of the above

According to INTERPOL, which State police
had registered one of the first cases in India of
human trafficking committed to force victims

to commit cyber fraud ?
(1) Maharashtra
(2) Uttar Pradesh
(3 Telangena )
(4) Bihar '
95. Match the following List I with List II with
regard to Arjuna Awards 2023, :
List I Lust 11
(Name ) (Sports
Discipline)
a. Ritu Negi I.  Golf
b. Sheetal Devi II. Kabaddi
c. Naorem Roshibina III. Squash
Devi
d. Diksha Dagar IV. Para-Archery
e. Harinder Pal Singh V. Wushu
Sandhu
Codes :
a b c d e
(1) I v v I 11
@2 U v v III
3 II v v oL I
. @ 1 NV 1 )

94.

(2]

& 1808 D0y SiHes’ 568 sersorod’
T8 EHNE 00K IBOTFOL HE T BT

202409 | DT80 TFE ?
1 | 8% oSS

. Hero &D b

L. oo 20

IV. o0 §odsd)

V. og0 Srdy

(1) I, 11 58050 IV Sr(ebad

@) 1, 11 0050 IV oo (@0

8 I, IV 805w V Sr(ehad
4) DI
INTERPOL (560, b JIrvrod

TARNON DOS080 TOHETVE TS
s oD SR So0HoV
2r8S530S" It T 2 TR Fdven
St T ?

(1) ST
(2) &S 1DTF
 ® Soors )
@ D6
95, oPDS erd) 20238 So20800 8S0H
e I 2rde IS S0Fe 08 :
ardel eIl
(D) (18Bev (5995 e)
a. Beh I L &S5)
b $858D I %28
¢ TS EaD B L D
d. &g oid V. >ror-e8)0
e. B0&E S ok V. &
PSlelal]
Sdrproren @
a b ' d e
(1) III v v I II
@ v v 1 1
3 I v Vv III 1
Lt n W ¥ Lo: . )
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96. Which among the following is the initiative by

the Government of Karnataka in collaboration
with the All India Game Developers Forum
(AIGDF) with special emphasis on gaming and
social media ? y

(1) _ Digital Detox ]

97.

(2) Digital One Stop
(3)
(4) Digital Bengaluru One

Digital Smart

What is the theme of ‘International Day of
Education 2024’ ?

(1) Learning for people, planet, prosperity
and peace :

(2) Toinvest in people, prioritize education

(3)  Learning for lasting peace ]

98.

(4) Education : A key driver for inclusion
and empowerment

Consider the following statements :

I.  India’s first National Highway
steel slag road section is on NH-66
Mumbai-Goa National Highway.

II.  Steel slag technology was developed
by the Indian Green Building Council
(IGBC) and Central Road Research
Institute (CRRI). :

III. JSW Steel, under the IGBC-CRRI
technological guidance, has constructed
a 1 km long four lane steel slag road
section on NH-66 Mumbai-Goa National
Highway.

Which of the above given statements is/are

correct 7 =

(1) Ionly )

(2) Ilonly
(3) IandIlonly
(4) 1II and III only

(34)

98‘

97.

Aol By FAS DA
DB5E (TSI eS5-508a5r A
BIOHB) SO (AIGDF) JSFsdos
Eomed (Dabedso & (8od o8S DO
@>rS0DoD0b ?

111

1) G200 Gersy )

2 ARS8 FD

(3) A&2S 378

@) ABLS BolErd 38

‘@OSTAAD Iy OSS)N50 20247 Ty,

VA0 (theme) DES 7

(1) B6)0F H6 HHS, TS, 1908
©08 OV

2 ar 2350 as S, |Doiroess
AT WIS

(8) BB8)0b 56 erNoh DR

(4 ABAS : D § 1BIE H6 20OPRNS
@08 J0NNB0E5

& 808 (HE-IOD HOBB0S0A :

L 68845 3w Jasd vl QS
oh 08 NH-66 S0oB-far aredh
OO V800808,

IL QS 6 Bsyeodd 2080908 BS
HOoh )8 (IGBC) HHB0%N oS
& 636) =ad)ereS (CRRI)
DI T3 ow.

IGBC-CRRI 038§ i858 508
JSW S, NH-66 S003-f'a 2rao%
8T8 1 8.0, Trentd BS QS Th
T D A80008.

DS BDYS (HELIOS’ DO/ ST ?

1) 1D )

(2) I Sredad
(3) 10805 II S
(4) IIH80% I Sredsd
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99.

“The Husavik Expl.braﬁﬁu Museum’ seen in

(35)

the news recently, beion.gé to which country ? |

Poland
Bulgaria
Saint Lucia

1)
(2)
(3)

(4) Iceland : | |

100.

Consider the following statements about
MILAN 2024 : ;

I.  MILAN 2024 is the 12® edition of
Multilateral Naval Exercise being held
from 19th to 27" February, 2024 under
the aegis of Southern Naval Command.

IL

aimed towards building upon the
experience of multilateral forces
operating together at sea.

The Sea phase of MILAN 2024 is being
conducted from 2279 to 27" February,
2024 and provides a platform for
participating navies to discuss maritime

IIL.

subjects of common interest and share|

solutions. .

Which aﬁiung the above given statements are '

correct ?

(1) IandIIonly

(2) IlandIIonly
(3) 1,IlandIII

{ @

None of the above

J

101.

Which country has officially declared the
‘Snow Leopard’ as its national symbol,
underscoring its commitment to conservation
and ecological balance ?

(1) Kazakhstan

(2) Mozambique

(4)

(3) Kyrgyzstan !
Democratic Republic of the Congo

The Harbour phase of MILAN 2024 is
from 19" to 251 February, 2024 and is|

&

2850 8 5DNS) D SvFDE 8y
FBAS SrsRaHo’ ) BFRE ToAIE ?
(1) &erod
@ 28805
(3) ROV AT
L@ _oFrod )
100. MILAN 2024 5800 (508 (D3OS0

(3

HBKeSososH :

L MILAN 2024 o360 &8» 5‘s-c5q;$
ES5r08 @d56508° 2024 DRSO 19
0B 27 S8 DEErOSDHISS) 9

oSS IJNS I8 (Multilateral

Naval Exercise) G308} 125 B82S,

MILAN 2024 330%) 360 &4 2024
DDS0 19 oA 25 IBH GoNOD
HOA  dSwoS' EOD  HATD
2308 8 e SONBTOD
SOHESH0 ©F SOrP DEPF0A.

MILAN 2024 G3w& oS08 &3
2024 DRSIG 22 Hod 27 SO
DELEFOBDHE0O HOAL et &)
BV Ao S8 YoNERS
L0050 DBXRT O HONFITRE
FOT TeITod JIOED ©oHNOB.

IIL.

28 2D (HEOSOS” DD HJID ?
{6))

1 558050 1T Sr{edad
IT 0805w 11T S5 e85
1, 1 808 11T

2)

4) _’;,._:33.‘) 5%

101.

HOBE HOO DTG dddeose HY
QP redBendr ‘Doth DS &
B3 2rBAH Ao O Bio edsdlor
(D830 ?

(1) 5288

(2) [oerod)§

(3) 8Q2TS

4) T305E3E 8HS e & sTof’
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102,

103.

The Global Biofuel Alliance (GBA) was
launched on 9% September, 2023 during
the G20 Summit. Which among the following
non-G20 countries are supporting the Global

Biofuel Alliance (GBA) ?
I.  Paraguay

II.  SriLanka

HI: Guyana

IV. Seychelles

V. Chile

VL Fiﬂland

(1) LILIIIVandV
{2). II, I11, IV, V and VI
(3) I, IIILIV,Vand VI
(4) I,IIIII, IV and VI

The Government of Gujarat is set to launch

the country’s first Submarine tourism in|

collaboration with :

(1) Huntington Ingalls Industries

1041

(2) Daewoo Shipbuilding and Marine
Engineering Co. Ltd

(3) Mazagon Dock Shipbuilders Limited

(4)

General Dynamics Corporation

A German-based company, Pepper Motion is
set to invest ¥ 4,640 crores in its EV Bus and
Truck manufacturing unit in 800 acres at :

(1
2)
3

Badvel, YSR Kadapa
Somandepalle Mandal, Anantapur
Aﬁéhﬁtapuram, Visakhapatnam

(36)

102.

103.

fad 23Br JoHS @ooHS) (GBA)
9 AR02B, 20238 G20 S Hodsyom
@80DoB0808. 1808 G20 TDHSs Brress
D BS a3 FrsoHS ©ochS) (GBAS
25 BTN ?

I. Doy
II. 208
B 1§ B s To V) v
IV. oad)
vond
VL. 308
(@ LI I, IV 508050 V

(2)
(3)

ILTIL IV, V 58050 VI
1, I, IV, V 08050 VI

(4)  LIL I, IV S8cs» VI

B2H0S (H20850 SO Jrsdos Bios'S
PSR Tl JA B 82300
8020 BD0B :

&)
@)

Fo80dS RorS) BB N0

B 25 HOoF HoaH  HDS
2020600 & OB

(3) s @8 andRs) Oes

104,

It))

4) 2305 BSNE) 58028

aé;&)é ToAS  EoA 206 : :{15

&8 (EV) 25000 $0050 9% Sarb

arE5E  SowoHod  Prosod 800
0D’ T 4,640 T DEPB DRWOB :

1) 2858, SI0eD 566D :
(2)  FIOTH $060, OI0SHS0

(4) Punganur, Chittoor

ORFEYB0, DTPHLYO.

- @)

DOHETE, DEFE
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105.

In which state was the law guaranteeing 75%
reservation for their local res?_iépta in the
private sector struck down by the High Court
stating the law is unconstitutional ?

(1) Karnataka

(2) Haryana

1086.

(3) Jharkhand

(4) Andhra Pradesh

Consider the following statements :

I.  The Global River Cities Alliance {(GRCA)

led by National Mission for Clean Ganga

under the Ministry of Jal Shakti was|

launched at COP28 in New Delhi.

II.  The Global River Cities Alliance (GRCA) |
is a unique alliance covering 275+ global |

river cities in 11 countries.

III. The Global River Cities Alliance (GRCA) |

is the first of its kind in the world,

Which of the above given statements is/are

correct ?
(1) 1and Il only
(2) Ionly

(3) IandIIlonly

(4) I and Il only

(37)

3

1355?_:35 SotiodS 8 FRE darebod 75%
- B2BsS FNIT) S D oRoS

TSR ool QP
832087 .

FAlopXelnd

(1) Sgos

@ Srogo

4) eolDTT

106. 2808 (DS HBKBoS0 :

L 20 3§ Hodss 7 edssss §8
for  JASS WIS Ty oS’
a6 8556 DS ©odHS) (GRCA)
COP28 D&%y Sok  Srgddst
Erdodotiadod.

I S 8358 2680 eodHS) (GRCA)
o3 11 BFod 275+ (DH0Y SO
a’)fgsa'c_n‘m (global
ENYTINTH 28 (HBEDS Erer.

river  cities)

I, 8 656 230 e@odhsS) (GRCA)
1;3:}0:6045‘3 SOIDEESS.

2 DS (DELSOS” DO/ DTS ?

(1) 1358050 IT Sr(ehsd

@2 13resd

(3) 18080 I Sr(essdh

(@ 11 0005 11 o Sed
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(38)

107. Which among the following is incorrectly|107. & (808 o8S 6 SHr =
paired ? BToH2A0E ?

(1) Jagananna Chedodu : It provides a| = (1 3050 BE® : 28 S28 HOAW

financial assistance of ¥ 10,000 per
annum to Rajakas and Nayee Brahmins
for better livelihood. .

(2) Jagananna Thodu :

the eligible poor, small and petty|

vendors with an intention to make them

financially independent.

(3) Jagananna Jeeva Kranthi Scheme : It
aims to empower and provide social

stability to women belonging to BC, SC

and ST categories. The beneficiaries will |

[ @ ¥sR Navodiartt Sektie 6 ot 5

receive sheep and goat units under this

It facilitates a|
working capital loan up to T 10,000 to|

provide self-employment opportunities
to the youth of Andhra Pradesh by
'creating job opportunities in the

\ transport sector.

108. The Centre of Excellence for Vegetables and

Spices under the Indo-Israel Agriculture
Project was proposed to be set up in:

(1)
2)

Annamayya District
Alluri Sitharamaraju District

(3) Palnadu District

(4) Guntur District

ST

(2)

(3

TOTEITIENOEH DHAS BSSIE
oo 00S$008 T 10,000 O
NIFAHO BOBBY0E.

2SS) S DB DS, IS,
DAy DY)  TFHOH &gy
35018550 D yoroS aTios b
T 10,000 SO50 P& d3Avo 8ods
BN VOO0, '

&0 &S |08 dG¥o : BC, SC
HOCHH ST S50 ToAS SErFersy
FOSOS DO ;Srds YEE )
©0B0WG0o A ©F50. & HHSo 8o
oPHoRHn MBen HOGKL Hen

i

oﬁm‘o&g 0REO.
() BRes sSBWo %0 : e \
- SoioS &5 BITTON
PSPV tntete) o300 @olRIHTE
AiDHSZ HIONO G BITFOD

5O )05¢0 & o s0.

108. R08-3rTS ofise)s 3§ lSedS ‘e

@08 VIV D & Jo°)EN TASTrOD

DEDBOSDE06 :

(1) ®d)Hodhy 8¢

2 ourd SYeoorer B¢
(3) der)th 3¢

4) Hotrd 2¢r
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(39) [A]

109. Consider the following statements :

L

IL

Vijayawada Railway Station was
awarded the ‘Green Railway Station’
certification with the highest rating of
Platinum by Leadership in Energy and
Environmental Design (LEED), USA.

Vijayawada Railway Station is the first
in the South-Central Railway (SCR)
Zone to have bagged the Platinum ring.

Which among the above given statements

is/are correct ?

109. &: (808 |HELSOD HBHEdoSod

I dzohard B85 IS8 HAbaD as
A9 ©@o& ANTSDoLS ABS
(LEED), USA Tjo° @308 résSo
BB3ohRS AS BB VAT HPDBIS
oDk,

I 8- B8s (SCR) &8S° T3S0
B0RS FentHBS) Bncsed BB VIS
22300a¢h.

2D BDYS (HELSOES’ DO/ TS ?

(1) Ionly 1) I37eD
(2) TIonly (2) II3red
3) Iandl (3) IO II
(4) None of the above @) DIDSY

110.

Which among the following countries got
membership into BRICS bloc with effect from

1% January, 2024 ?

L

IL.

1L

(€8]
(2)
3

Egypt
Argentina
Indonesia
Ethiopia
Saudi Arabia
I, Il and III
IL, IIT and V

LIlIand V

(4)

LIVandV

110. 2558 1, 2024 Sod DSy 268 (BRICS
bloc) & (808 Brod o JsErsd)

ooron ?

I &29

. oo

. W0&Inaw

IV. 2Jraod

V. b obdasr

1) L IISocky I
(2) II, I8 V
(3 I I8V

4 LIVO»V
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111. Identify the incorrect statement regarding
‘PM Vishwakarma Yojana’ Scheme :

L

11

(1)
2)

The Government of India launched the
‘PM Vishwakarma Yojana’ Scheme to
provide end-to-end support to fishermen
with non-mechanized boats.

‘PM Vishwakarma Yojana’ Scheme
provides collateral

development loan up to ¥ 6 lakhs in two

free enterprise

tranches.
I only
II only

3)

Both I and II

112.

(4)

None of the above

Consider the following statements :

L.

II.

II1.

Dr. Tallavajhala Patanjali Sastri
was conferred with Sahitya Akademi
Award 2023 in Telugu Language for his
poetry and poetry collections.

D.K. Chaduvula Babu was conferred
with the Sahitya Akademi Bal Sahitya
Puraskar 2023 in Telugu Language for
his short stories ‘Vajrala Vaana’.

Johny Takkedasila was conferred with
the Sahitya Akademi Yuva Puraskar
2023 in Telugu Language for his book
‘Devara Kotishu’.

Which of the above given statements are

incorrect ?

(1)
(2)

I and IT only
II and I only

3

Iand IIl only

(4)

All of the above

(40)

[A]

111. 50 IS Bras HOSVE Ho20B0D
D857 (D550 hBoS0sk

L.

1I.

(1)
(2)

To-ETE S 8 &S
NSSTOOH 0 Fan dIrsdo
©0B0BEA8 28 (HEDS0 ‘DO
33882 S’ VPSR,
800 0s.

Do DIEG Tras dso oo
oddeo%H Bok ESS T 6 ofe
SB% TEEY BTHowm Ho&b| T
BIOVN0E BTN ©OANOH.

I S
IT 507533

(3)

I 805 I Bodkr

112.

(4)

R 5%

& 1806 (HEOSOD HOHEBOS0A ;

L

IL

@ STIEpO J8020) FTAD &S
D50  HOA D So¥wd
deriioss  Benthd  rAS  oress
©5°BD el 20238 He8)80T .

&3, NP 220 S W SGen
‘Sere o § et TAS’ Fores;
TR WO vy HORB0 2023
& He8007%. 4

R SBIOD S5 TRG T3’
VSRS Benth 2rAeS” rereds e5°
A0 HEI, B0 20238 Heby, BoT .

DS BN DIOIOS” DD OS5 ?

(1) 108050 I Sriesadh
2) 11 o805 I Sy
@) 10005 LI (S0

(4)

3
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. 113. Identify the incorrect statements among the

following :

L

1L

I11.

(1
(2)

(41)

Man Singh is the second Indian to win a
gold medal at the Asian Marathon
Championships.

Hardik Singh was named as Men’s FIH
Player of the Year at the International
Hockey Federation Hockey Staf Awards
2023.

Indian women’s hockey captain Sushila
Chanu won the FIH ‘Best Goalkeeper of
the Year Award’ at the International
Hockey Federation Hockey Star Awards
2023.

Shubman Gill has béen selected as
‘Emerging Player of the Year at
International Cricket Council (ICC)
Awards 2023. ;

I and III only

II and III only

(3)

III and IV only

114.

(4)

In which part of Andhra Pradesh is India’s
first largest private gold mine located ?

1

(2)

I and IV only

Krishnagiri Mandal of Kurnool District

Aspari Mandal of Kurnool District

(3

Tuggali Mandal of Kurnool District J,

(4)

Rudravaram Mandal of Kurnool District

113. & (808 o8 S

[a]
DEOSOD

H8odod :

o

I11.

1

(2)

ST VOA SV PSS TONADS

DS’ 0D HSEO FEODS BoS

2550,

R0LBANS 8 DATAS ADDWS
58 F6 o) 20238° 505 ok
B0 JeroS VNS =H H
RQODET JonEAS TS,

8es Harer S8 TS Do T
R0OT) 2SS H*8 DABAS (DD S)
58 F6 oarf) 20235 B 'S 856
e & R0HE T DD FenctHHod.

wosTaoH (838 §FA)S  (1CO)
oIden 20238° HFHS AS ‘WQok
20HE &5 & ROLE' T JoDFASTSCL.

1 50805 T Sr7($5h
11 SH8asw III Sr|edsDH

(3)

I 8050 IV Sr(ead

114.

'_ @)

I 08050 IV Sr(ehad

ESTH0S'D BLHTNEE ©BDY (IS
2Ord K0 woBINBIS'V 2 (rosods’

&08?

(1) S&r)en 2¢° §ya00 Hodeo
(2) S&ryen 2 &0)0 Hodero
(3) S&ryen Br BN OGO

(4)

&) e B BKSE0 oS0
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115. Consider the following statements about the
Indira Gandhi Prize for Peace, Disarmament
and Development for 2023 :

L Daniel Barenboim was announced as
winner of the Indira Gandhi Prize 2023
for his efforts to solve economic crisis and
his contribution in the development of
Sri Lanka.

Ali Abu Awwad was announced as winner

of the Indira Gandhi Prize 2023 for his

efforts towards a non-violent resolution of
the Israel-Palestine conflict.

IL

III. The International Jury of the Indira
Gandhi Prize for Peace, Disarmament
and Development for 2023 was chaired by
former Chief Justice of India,
R.M. Lodha. o

Which among the above given statements are

incorrect ?

(1) IandIIonly

(2) I and III only

(3) IandIIonly

(4) None of the above

116. Which among the following rare natural
phenomenon is going to happen in 2024, after
221 years, in the United States of America ?
(1) Fire Tornadoes
(2) Glow Worm Caves
(3) New York’s Ice Volcano

| @) Double Cicada Explosion )

117. Which among the following are incorrectly
paired with regard to Swachh Survekshan

Awards 2023 ?
I. Best SafaiMitra Suraksha Sheher
Prayagraj

IL.
III.

Cleanest Ganga Town rank 2 : Varanasi
Cleanest Cantonment Board : Mhow
Cantonment Board -
All India Cleanest City rank 3
Mumbai

I and II only )
II and III only

III and IV only

I and IV only

Iv. : Navi

(1)
(2)
3)
(4)

(42)

[A]

115. 708, Qo oNAEGE O dSyd Fdo
LHa TS 68 a8) =odo mod
2I0Ved 2023 HB0D (80d Laéea:éoc&)
HBHeorsok
L BIHS oSS oS 3008 Ty

ad¥ J08%rR) DB8HLB0BERE HOAD

2008 @DSHQS BAHS TS EyN8

T OBT" Mo 2257006 2023 BeSrr

(DEo.

JTDS-TOUT ITTVE @O

H8XR80 $H0 THS L8 e ©d

®2) OB VOB Mo IV

2023 DB (HEEoTTH.

308, AAWAESED S ©DIIO

800 §ya TS 08 2T R0QO° rod

2BVDS 2023 OSTBOD 27588 S
Srd 1D ToHhrd esbo. Sor
@538 & Serotio 28R,

S DS (DELSOES’ D Y, ?
(1) 100050 II Sriebad
@) 110005 I Sr(esh
(6 T35 Tl SreSad )
4 DI Y

116. &0’ 221 JoSSYo°® STrse 20245
J0583508° & 1808 TES' O ©HBS
JIE BehisA000 BSHSS0d ?

1) B ESEED
@ B >6;35) (Glow Worm Caves)

(8) &rg0srd) GBE) Do esfly NS se50
L@ B0 S Q§g§§3‘§15 : |
117. QW) ® Q) 2023 § QODOLHOV) &
1808 &3S’ DD SP )z ToHAID ?
A8 ool DEES HL®O
(QaSrhiowes
1L §3% sorr H&00 07508 2: TSR
ML HBHEDS  808'ToS P : IS
50&5' 085 S
V. 86 0805 §3D e o°s05 3 1 5D
2023
I 00050 IT S edad
11 20050 111 &7
I o805 IV S
1 0050 IV Sr($5h

1L

III.

(1)
(2)
3
)
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118. Consider the following statements with regard

to India Skills Report 2024 :

I Maharashtra, Uttar Pradesh and Kerala
are the top three states with the highest
availability of talent with computer
skills.

Karnataka is the most preferred state
to work for both male and female
employable talent.

IL.

Telangana has the highest concentration
of employable talent in the age group of
18 to 21 years.

IIL.

employable resources.

Which of the above given statements are
correct ? .

(1) I,IIand IV only
(2) II,III and IV only

(3) I,III and IV only ]

119.

(4) All of the above

Pick out the odd pairs with r-egard to newly
elected Presidents of that respective country :
I.  Fernando Pérez Molina : Guatemala

II.  Abdel Fattah El-Sisi : Egypt

III. Felix Tshisekedi : Democratic Republic
of the Congo

Sierra Leone : Liberia
I and II only

Il and 111 only

I and III only

V.
(D
(2)
(3)

(4) IandIVonly ) |

120.

Which is the first South Asian Nation to
formally register same sex marriage ?

(1) India

(2) Nepal

(3) Maldives
(4) Bhutan

Andhra Pradesh is one among the states|
with the largest concentration of highly|

(43)

118.

&l

& 1808 88 zodayr S) 6%

2024 %o RODOHODS [BSIAINISIN

2030505 :

I SoJyseb M8 A
(D82rS0ee) 98 sBFomT othertns
&) D Sk oEard HSoR,
GSEIDTT O BEY ey Q.

I 8 OO (R ard TrEiDS

L D8rSs0éhe JD ToHERE o
VRO O N0 ET°E.

L 8oornd 18 Hod 21 ¥ eSS
DODA) &) G DS
DB2TS50eHe iSO G K.

IV. e0sids a>e ST

DRrISHOD Of &) oard
SO(PDHTE 2.883.

2 DY), (DEOIOS’ A HBID ?

(1) L1805 IV Sr(essh

(2) I, III D005 IV Sredsd

| ®

1, 111 00080 1V S (S e0 )

119.

L

4) DIV)

& 18308 78S T D0 F0AS & T
sHA8 020000 JHOSR 2D
HBoBobk :

L 2008 28F IO : miRsre

I P Hr IE-2: &2

OE) DTS : BRw(5¢38 85DE &D
soff’

Ao OB : BHOK

1 005 1T Sriessh

IT 58050 IIT S8 ad

1 0805 IIT Sr(edsdh

Iv.
(1)
(2)
(3)

)

15005 IV Sresd )

120.

33008 DaI*) HSOEOMT ST TS
0S8 S8 s T¥o B ?
(1) erdesdio

(& 3> )

:u@gm
PAS NN

(3)
4)
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SECTION E
Mental Ability
121. Study the following arrangement carefully : 121

DE*9E$P#6+U0SH1A2D&#AS2QA3DSIALM#
What should be in the place of question
mark (?) in the following sequence based on
the above arrangement ?

DE* 9$P 60% A#A ?

(1) A%A

(2) AAL

122.

(3) AS9

(4) ALA

Rajesh codes the alphabets as numbers such
as a=1, b=2, c=3 and so on. Then what is the
valua-:-th#t Rajesh gets by adding all the
letters (according to the code given to that
letter) in the word

‘pnemmmummmmﬂmvohmM’ ?

(1) 524

(2) 536

(3) 548

(4) 560

WEOE
Jooerd 2DHOS
. & 1808 QT BSTr edsohdo
THod :

DE*9E$P#6+U0$H1A2D&#AS2QA3DSIALM#

D 8008 esgrdorr (8§00 (508 1HF) 88
HA () FS0S DD somd ?

DE* 9$P 608 A#A ?

(1) A9A

(2) AAL

122,

(8 AS9

(4) ALA

022 SPSros'd oo a=1, b=2, c=3
DSBS woPgen &G T, )%
‘pneumonoultramicroscopicsilicovolcanoconiosis’
OF HB0S'D ©d) wived SBoso
(& @5 T8 2NN §& (95°80) oo TED
OO DeNad D0eH?

(1) 524

(2) 536

(3) 548

(4) 560
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Directions for question nos. 123 to 125

Study the given information and answer the

following questions :

YSR Kadapa team has to play cricket matches with
Visakhapatnam team as a part of ‘Aadudam
Andhra’ organized by the Government of Andhra
Pradesh. The number of players in each team must
be 5 only. Both the teams have to choose 5 players
from the eight players given below. The information
about the eight players, their role in the team and

the money to be paid for playing one match is as

(45)

(D¥) Do g 128 Hod 125 SEH Srdaden

IS SIPTOW)) @EsabS0 TR Dby &
(SOB (25%) @30 DaIrPTn50 54083 -

SOPHNTF  1DHDB0  ABsrNN)  ‘@ehTro
e0|Y'S’ riomr BaDed §i0 260 ITPHL)0
2EPS’ 1836 SrySen 8md) &od. (HS 26pSD
SOME Sops SHIVN8T 5 Sridad Gomd.
1808 255285 JAWE H0d eLTrES Boh
28" 5 H0B BLOTED JoHETd. & 180H
JBES’ JIWE 508 T, 28 8 e
DOAD 28 Sr5S B8AS0E TOoTT)S thaw)
H80D ddrerdo &od.

follows :
Player Role Money to be
paid per Match
A Batsman Z 5,000
B Batsman ¥ 5,500
C Batsman/Part time < 6,600
Wicketkeeper

D Specialist Wicketkeeper Z 5,500
E Bowler (Spin) T 5,000
F Bowler (Fast) T 6,000
G | Bowler (Spin) T 5,500
H | Bowler (Fast) T 5,500

Conditions :

1. B and C cannot be selected together.
2. Wicketkeeper is a must in the team.
3. E and G cannot be selected together.

4. Among E, F, G and H, only two persons are to be
selected.

5. If Ais selected, H must be selected.

6. There must be at least two batsmen and two
bowlers in the team.

7. C is considered as both a batsman and a
wicketkeeper.

2,8 JropeS
&4TeD xyes &3S0
ZD0iE))eS
adan,)
A 33'565 NS < 5,000
B 23-55 NS T 5,600
C 2465 ) ST/ < 6,500
B DBSEHE
D 00D DBESEHE ¥ 5,500
E 2505 (D)) ¥ 5,000
F I0b (D) ¥ 6,000
G 3705 (03)) T 5,500
H 258 (a{s) Z 5,500
adeben :
1. B 00 C o 30 02§ Toheo
G0 5.
2. 2RSS DBESEHBSHINH0MT Gomd.
3. E DHOB® G oD 5O JonE Todhéo
DPGS0 5.
4. E, F, G 00 HoS addH Siven
ST Q0D Tohaacsed.

5. A Q0DE ToHAAS, H Q #0008 JodE
BET.

6. 2P 5DI0 APBH 25 HIArS  SHOAK
QRH o omd.

7. CQe>S)SrS 80w DBETENET
HoNBod.
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123.

YSR Kadapa team decides to compose the
team with one fast bowler and one spinner
and has a budget of only ¥ 26,500 to form a
team. Then who among the following is not a
member of that team satisfying all the
conditions ?

(1 A

(2 E

3 H

4 G

124.

125.

If it is known that the stadium is favourable to
spin bowling and YSR Kadapa team decided to
select C and G compulsorily in the team, then
what is the total amount spent by the team on

selected players satisfying all the conditions ?
(1) ¥ 27,000 :

(2) ¥ 27,500

(3) T 28,000

(4) < 28,500

If it is known that the stadium is favourable to
fast bowling and YSR Kadapa team decided to
mmpos;q;_"t.he team with two fast bowlers, then
what would be the least amouﬁt that can be
spent to form a team satisfying all the
conditions ?

(1) ¥ 26,500

(2) T 27,000

(3) ¥ 27,500

(4) ¥ 28,000

(46 )

123.

SIS 8D 2L 28 IR T8 DB
28 YNBSS 2P domytw Tored
QAFONOTLFOS HOBD 2P  NT*HED
DOHETNE BS00 T 26,500 2FES S

&God. ) &) AGHOD
DOSINDODS THH & (808 78S A5
& 2908506 DI 57¢H ?

P A

(2). E

® H

@ G

125,

. )S TO0RK VAANO ©DHEFOH SOV

BINVesE 585 8 C HBA%w G D
S0 0¥ TOred AFowoDod,
BOYI® ®d) ABHOH I00HFH JodE
TS BOTESH 2EY PH) TS Bweto
206 ? :

8y
(2)

T 27,000
T 27,500

3) < 28,000

(4) ¥ 28,500

RAEA0 TR FOORSH eDErOOT HOS
8O BIVeS K85 =Y WS PR
TobS 2D oD ToFred
APONON0H, @HYD ©) AdHOD
DOSIVHBD 2P Dov)ew  ToHEds

) DO 50y IS0 DO ?
(1) ¥ 26,600
(2) ¥ 27,000
(3) ¥ 27,500
(4) ¥ 28,000
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126.

Read the following instructions :

A$D means ‘A is to the North of D’

A&D means ‘A is to the East of D;

A*D means ‘D is to the West of A’

A%D means ‘D is to the South of A’

A@DR means ‘A stands exactly m the middle
of the horizontal line of DR’

A!DR means ‘A stands exactly in the middle of
the vertical line of DR’

It should be noted that ‘A6m$D’ means ‘A is 6

meters to the north of D’ and so on.

Find the shortest distance between S and 'Pm

the following expression :

(47)

~ |aze.
 ASD 0% ‘A 638 DS a0 oy

|  A&D ©0% ‘A 636 D § &r&)S oy

& (808 Bt TS0 :

A*D 0% D &TO A § HINITS wody

A%D @08 ‘D oSO A 8 A8 S oy

A@DR ®@0® ‘A pO)Sor DR Ty

BEFoSES By 596558 &oenody

AIDR &0® ‘A O $0m DR BoEy dend
B 5sS" otnody

‘A6m$D’ ©0%) ‘A ©FS D8 &S0 6 e
&80 & o0&’ ©d ©fo TR >O.

& 1800 $58580” S B T Hdds @
SF0}) GO SN0 :

‘B12m$S5m*RIm&I6m%KIIT

1) 4418 &

1217

‘312m$35m*g-3m&.16m%&m
1) 4/13m
(2 1023 m
@ 2/183 m
@ 313 m
127. Rama“ﬁv'?}.ﬁs born on 29" Febmarf, 2016

which happened to be a Monday. If he lives
till 2099, how many birthdays would he
celebrate on a Monday ?

H 2

(2} -t

(3) 4

“4 3

(2 1023
@ 2413 %
4 313 %

S0 DRSS 29, 20168 2O, @O
FHTE0, S 2000 36K B0 GO,

@ddH FH>so 3 D) HBSEren

2HNB00erdd ?

() 2

2 7

3 4

4) 3

T P
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128.

The speeds of Rohit and Lalith are 30 km/h

and 40 km/h. Initially, Lalith is at place X and

Rohit is at place Y. The distance between X

and Y is 650 kms. Rohit started his journey
3 hours earlier than Lalith to meet him. If
they both meet each other at a place Z
somewhere between X and Y and the distance
between Y and Z is P, then what is the value
of P+27?

(1) 330
@ 125
@) 220

(4) 165

129.

If in a certain code language ‘CONSERVE’ is
written as ‘BDNPMORTDFQSUWDF’, then
how will ‘NUMEROUS' be written in that
code ?

(1) MOTVLNEFQSNPTVRT
(2) MOTVLNFFQSOPTVRT

(3) MOTVLNDFQSNPTVRT

130.

(4) MOTVLKDFQSNPTVRT

R and S are friends. R lives in USA and S lives

(48)

128,

Ford oo odS JKo Kotk 30 8
S8k 40 8Do/o | BoFosS ©dS X
T30S $H80%w Ford Y P ey . X
S80I Y 36§ BrBo 650 8.5, 28858
o3R8 oS L0 3 Ko&e VoD
Ford &3 |1DorerR) [rdodomrdd. X
SO0 Y gy &) Z Pood oy
2.E0TES) EensnBot) Y 005D Z S0¢ds
&80 P @000, @5))0 P + 2 DeNd 20 ?

@ 330

(2) 125
(3) 220

(4) 165

129.

28 DR €6 nS  ‘CONSERVED
‘BDNPMORTDFQSUWDF @ [,
o8 €& 88 ‘NUMEROUS oe

_ (oo ?

| 130.

in India. One day R asked S that ‘if the time|

now in USA is T hours, then what is the time

now in India’ and S replied that ‘India is 9
hours 30 minutes ahead of USA’. Then what
time will it be 18 hours from now in India, if in
the USA it is 4:15 AM ?

(1) 1:45 in the afternoon
(2) T7:45 in the evening
(8)  1:45 the next morning

(4)  7:45 the next morning

(1) MOTVLNEFQSNPTVRT

.(2) MOTVLNFFQSOPTVRT

(3) MOTVLNDFQSNPTVRT
@) MOTVLKDFQSNPTVRT

R S8 S 2 D)sreéven. R USAS'
28a S rosHios  ASHRTIG.
2,882 R SQ ‘USAS" aych O T ﬁo&m
28 R0AKTS 2HI® WO oS e
OB, 88T io USA E0d 9 Kode 30
Qadare oo & S JIrFSo
R ). USAS' &000 4:15 ©0nd, 2963
D08 18 fHove SHTS rEsBios
DeDANO DO ?

(1)  gger)o 1:45

(2) «rodolgo 7:45

(3) BN &daDO 1:45

(4) BN &SANO T:45
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131.

In the mqgth _of January, -tﬁe studen'\t:s*;.j;pf;
Chaitanya Bharathi Public School visited
M/s Swaminathan Farm, where they saw

counting. If the heads are cmmted ‘there are
340 heads and if legs are counted there are

1060 legs. He also observed that 3 pigeons (out|

of the total pigeons present there) were dead.
Then how many live pigeons are there on that

farm?
(1 179
(2) 167
3) 157
4 147

132,

133.

The sum of the present ages of Ramu and his
son Jagadeesh is 60 yes.rs Six y‘éars ago,
Ramu's age was five tlmes the age of
be :

(1) 12 years

(2) 14 years

(3) 16 years

(4) 20 years

If 2X4X6X8X10X12X14X16X18=18579XYZ0,
what is the value of X + Y + Z ?

(1 12
(2) 138
(3) 14

(40 15

(49)

Jagadeesh. After 6 years, J agadeesh’a age will

-131. 2858 VoS BsSs 68 HDE S

TP Ms  FINTGS  FOSH &

 R0SB8 0T, @G S 5085y SHBAN
rabbits and pigeons. One student started| .

THT O . 8 dogd &K WS

.'f"g\'iba‘%%.} SO FYHTe Seewy, 50y
 B§oud0 (Fréodomrdd Seen BEHR 340

Soew, 5PN BEDAS 1060 5 &) 0H
méom-c'aa @5 3 FYT°EN () &)
 Bwsdo o) SISO AND v

ﬁé)a)oa'csn. @I & FEHS AV H8S

YT GO ?

k1) Y
- m 167
4o

I 147

T —

132, OG0 HOCH @S RSrdHd 2ubIe

(DS SADVYS  Bso 60 HoSe o .

- @B¥ B0 Tdn SAhd BHAD SoHdy

80 D5 BED D505, 6 VOSSO S0
BEAD 50D D0 GOENOD :

__(i) 12 50568 yoren
(2) 14 J0deS o
@ 16 c‘{ioéé,jc'cn

(_4) 20 cooo‘.‘zé,;zo'an

133 2X4X6X8X10X12X14X16X18=18579XYZ0

SONB X + Y + Z Densd Soeh ?
@ 12

h (2 13
3 14

4) 15

bl it
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Directions for question nos. 134 and 135 :

Study the given information and answer the
following questions :

On the occasion of _;mveiling'.of Statue of Social

Justice, the Government of Andhra Pradesh had set
. up exhibition and stalls at PWD grounds,
Vijayawada. Raghu went to the exhibition to visit|.

8 stalls, Stall-1, Stall-2, Stall-3, Stall-4, Stall-5,
Stall-6, Stall-7, Stall-8, but not necessarily in the

same order. He started from Stall-1 and walked
towards Stall-3 which is at distance of 24 m towards
East. He then turned left and walked 16 m to reach
Stall-5. Then he walked 57 m Southwest to visit
Stall-2, which is towards the South of Stall-1,
crossing the path which' goes through the midpoint
of the line joining Stall-1 and Stall-3. After visiting
Stall-2, he walked 40 m in the East direction and
reached Stall-7. He then walked 50 m left to reach
Stall-8 and then 16 m right to reach Stall-4 and to
reach the last stéii_, he walked 35 m towards the
right.

What is ihe shortest distance between Stall-3

134.
and Stall-6 ?
1) 687 m
(2) 489 m
(3) 4¥7Tm
4 824 m
135. What is:':ﬁhhe=:'djim&on of Stall-1 with respect to
Stall-2 and the shortest dxstance between
them ?
(1) North-East, 7V10 m
(2) North-West, 7V10 m
(3) North, 35 m

(4) North,39m

(50)

|1H¥) Soms 134 HB» 1858 L&'ﬁ;pﬁo ’

Brcsasen :

| & (o5 @20y SSrerow) egsabdo 75
_a:izécﬁv (835) O DaSFTRS0 255063

e

ad IS 2PN ea&baa.zraoaé
moédgorr SoIB\HBT Lcoa‘bé;o DBOHTEHED

&J'_)e.n Zﬁn)o& éa.’m 8 SO DSB8

MDISH ITch- FS-1, FS-2, FS-3, FS-4,
TS5, F5-6, ST, TS, 5 o8 [EHosS
HOBBIBB. ©SH FS-1 Hod F80Hod
Sr5) B 24 Hexd &rdod &d) FS-3 3D
SATW. ©5A H0B BB HOA 162
SAD FS-58 THHT)YW. @88 Hod D
FS-1 SO0 FS-3 0D B S &)
SrTR) o8, FS-18 Sfwor &Sy FS-29
HOBBPOBEITRE THE OIS 57 SBr.
TS28  DOBIDS ST Srd) OIS
40D SAD FS-78 Bordoar) . A Hod
O TS-88 BHEI@OE BB 500 SAD,
& F'S-48 THFIFTVE HE3H 16D SATH
B VS0 FSE THFIFTIE A Hod
A 3500 SArh.

S0 0o ?
@ 6J87 &
(2 4\@ 4
3 477 D
@ 8245

FS-28 H020H00 FS-1 D 8IS &od
- oNB0D a3 DS ®& S50y éﬁJ‘dO .Doé ?

(1)  &as50, 710 & -
(2) oS80, TV10 &

(3) &GSS0, 35
@) &R30, 39

185.
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136. If AB x DED = AB AB,

AB x DEDED = AB AB AB,

ABC x DEED = ABC ABC, and

DED + DEDED + DEED = DDFEG,

where A, B, C, D, E, F and G are different
digits, what is the value of Fx G ?

(1) '
(2)

(3)

137.

o O = 2

4)

Suneetha is working as a Deputy Collector

used to spend it on three heads : i.e., Personal
and family expenses (P), Medical (M) and
Charity (C) and rest were her savings. P was
70% of her salary, M was 20% of P and C was
15% of M. When she gets a salary hike, her
salary is 60% higher than in the past. She

maintained the same percentage of P, but M|

became 25% of P and C became 20% of M. The
difference between the two savings is :

(1) T 284

(2) T 370

138.

(3) T 424
4) T474

Vijay invested a sum of ¥ 8,192 at 15% per
annum in State Bank of India. What is the
compound interest for the sum invested by

Vijay for 1%: years, if interest is compounded

5 monthly ?

(1) 1,740
(2) T1,735
(3) T 1,640

{ @

T 1,634 )

(51)

136.

AB x DED = AB AB,

AB x DEDED = AB AB AB,

ABC x DEED = ABC ABC, 005

DED + DEDED + DEED = DDFEG,

A, B, C, D, E, F 005 G 3055 ©@08en
0N, F x G e Do ?

)2

(2)

137.
and gets a monthly salary of ¥ 74,000. She}

4
3 6 ) |
4) 8

S Ay E8Er DTS
BN Joard Lo T 74,000, & D
S DPS’ pH) BYoB : Ss8ies
D00 Soénoa pddyen (P), 850 (M),
788 (©) HBD WADS JInvddo e
Y. P 6D 280’ 70%, M TwEy i)
PSS’ 20% 805 C GBwd) ) MS' 15%.
8 2S00 DO FoOHIDIW®, s Héo
b0 0T 60% DOROH, &3 P 3BnE), K
o8 TER) TITA0N0S, SO M ),
D) PS’ 25% H8A5 C FBnk) iy M &°
20% 0008, BO O NS 35850
20eh :

(1) ¥ 284

(2) T 370

138.

(38) T424
(4) T 474

D NS wrsof 6D oA
N0ISITVE 15% TaI)d T 8,192 P2
VR, DD 5 SO @ 0D HPaS

1% JodSyore  Fén  d=Ad  ES
EPDAE SESG does ?

(1) 1,740

@ T1,735

3 T1,640

@

T 1,634 ]
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139. Some equations are solved on the basis of a
certain rule. Following the same rule find out
the missing number (?) :

2[4]13=14,4[615=382,5[716=44,6 (8] 7=?
(1) 50
(2) 54
(3) 58
(4 60

140. Arun finds the letters to be placed in the place
of ¥ and ' in the figure given and by
combining and arranging those four letters in
the figure given, he finds the name of a
country. The Capital city of that country is :

9 5 7 4

J

i
U

~
?

\E !

1 2

(1)
@)
(3)
4)

Siva defines a number as ‘connected with 9" if
it is divisible by 9, or if the sum of its digits is
9, or if 9 is one of the digits of the number, and
other numbers are all ‘not connected with 9.
As per his definition, the number of integers
from 1 to 90 (both included) which are not
connected with 9 is :

(1) 45

2) 63

Quito

La Paz
Lima
Georgetown

141.

® 72 )

(4) 81

(52)

139. ) ONESeren AR oo erdomr
HoNBovvGEAD.  ©F  doHArd)
©DXB0D (DAEE () TSR Josd
ERN0B
2[4]13=14,4[615=32,5(716=44,6[8]7="?
(1) 50
(2) 54

Coe s )

140. & (800 2AYS FXSR 2 HdosH ¥
T30S Gomd)d eiToH ek
ST DO 2ad)S & Trentd
50O SONB0 DO  @HBBO
O 50" @ 2.8 Bio T, & Hiowrd.

s B4 &), 02T O ?
9 5 7 4
N\
7 U ? 5
-
2
\E l) 6
1 2 9 3
1 8§38
2) ey ¥
Co o3 )
@ 2P&e

141. D Hops wonsd 9 o or ariodateos
B0 & HopsS’ ©o8e Indo 9 BY0E
S 9 8 HosS’ 2.8 @08 oS ENSOoL

Hopgen 98 D0 RASD
05D  AOS  Sopgeny ) 98
ODIOTAOBDAID T D B

ABID0TFRD. S ABIBI0 D560
1 0& 90 (1 B0 90 Bodkr §enYSV)
S6% 98 HVOTIOBVED FFOSO
QOYS DO :

(1) 45
2) 63
( % )

(4) &l
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142, Read the following instructions :
A3B means ‘A is the Mother of B’
A11B means ‘A is the Brother of B’
A9B means ‘A is the Father of B’
A12B means ‘A is the Sister of B’
Which of the following expressions means that
P is the maternal uncle of Q@ ?

(1) QI1IN3M12P
(2) P3S12N11Q
{ ® P11M3N12Q

(4) Q11S9P

%

)

143. Find out the odd one in the following series :
2, 4, 7, 11'5, 1825, 28-375, 42:5625
1) 115
2 7
(3) 28:375
“(4) 425625

{ )

144. Priyanka brought 20 plates and 12 teacups.
She marked up the plates by 15% on the cost
price of each and the teacups by ¥ 20 on the
cost price of each. She sold 75% of the plates
and 8 teacups and made a profit of ¥ 385. If
the cost of a teacup is 60% the cost of a plate
and she got no returns on unsold items, what
was her overall profit or loss ?

(1) Lossof ¥ 210
(2) Loss of T 250
(3) of ¥ 355

(4) lossol<4ip

145. Mahesh and Krishna are engaged to do a
work. Mahesh working alone takes 8 hours
more to complete the job than if both worked
together. If Krishna worked alone, he would

need 4-;— hours more to complete the job than

if they both worked together. How much time
would they both take to do the work together ?

(1) 74 hours
{(2) 5hours
(3) 53 hours

{53 )
|142. & (808 XSSO 5B5S08 :

A3B &5 ‘A @0 B 33ng), $&

A11B &35 ‘A 0% B G3E), FEEEY

A9B e ‘A @0 B B, ol

A12B &S ‘A @0 B G308y S8’

P odad Q Tng Dssrdr (8od

35888006 DO rHs0d ?
(1) QlIN3M12P
2 P3S12N11
11
P
148. & (808 SBHIS' SHIT &S) Do

80504 : |
2, 4, 7, 11-5, 1825, 28-375, 425625
(1) 1156 :
@ 7
(3) 28375
4) 425625

144. (DASr08 20 DD DB 12 HEH IO
SVY08. & 2.8 DS B8 C.P. (Fdoffen
$0) 50 15% DB DO 2.8% 6380
@8 CP. (Foffen ¢58) 0B T 20 5035
DSB0N0H. & 5% Ve  HBSY
8 S5H)o0 JZawod T 385 ererd)
aQoN0B. 2.5 85H) &6 28 VS PSS
60% ST|SD. O JFONOIA SNIOD
S derodd Tad UENS, e o
N0 SE® SO0 DOed ?
(1) ¥ 210 30
(2) ¥ 2508900
(3) ¥ 855 da20
@ T 47580
145. TR HOAD R 28 I Tohos
ADMND SIS, addh O HATDS
DRE0T S 258 52 JohadE 8
O DHYS DA, Kya 2,008 HA
TR, REE EOR HATDS TRAE0EH HAID

8 ToH@E eS8 47 fowen Jnd

7. addr DD I ToH@VE doe
B0 BLDE0EFSS ?

(1) 7-4 Koren

(2) 5todden

{l @ 6hours

3) 5'38o&en
(4) 6 fotyen
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146. Find the number of triangles and squares in the

following figure :

AN
N4

(1) 21 Triangles and 8 Squares
(2) 20 Triangles and 8 Squares

(3) 22 Triangles and 7 Squares

(4) 21 Triangles and 7 Squares

147,

148‘

The question below consists of a problem figure

and is followed by four answer figures (1), (2), (3)|

a.ﬂd (4)-1
Select the correct answer figure that is
embedded in the question figure.

Question ﬁnmﬁ

X<l
(1) (2) (3) (4)

&2

Choose the correct mirror image for the given
figure among the four alternatives (1), (2), (8)
and (4). The mirror is represented by a line AB.
Question figure wer \gures

PV ¥ ¥

(1) (2) (3) 4)

Answer figures

(54)

146.

& 1800 Do |@haren SO
SEBERP HOPSD EOFD0A - ;

Z5
N

(1) 21 (320D SHO0D 8 e d(Rren
(2) 20 (B2DHzren HOC 8 thehdd|aren
(3) 22 (82020 SHOAW 7 e B|Aren

(4) 21 (83202e DO 7 IS en

147.

148,

& OIS 28 (%) S0 DO wreniDd
QPO DO (1), (2), (3) SHOAW (4)
500 &) A.

(D¥) S0 FoHHODS JIBS Baen
DUSH JOHEOS,

AArgES OEren

Mi<liix]

mle @& @

(%) D¢

N

& QDS NS Trenth (HeErssrycives (1),
(2), (3) HBAW 4) S FDYS V(S0 By
RBS (D8N0 HothS'od. ©P0 AB BS

° $O° IR0 0H.

Yo
A |7

LY gt

(1) (2)

154 Do DEren

3)

v

4)




*GS/2G/200

149.

S - S TR g

Statement : Two industrialists, Shya.m and
Manoj, have industries right next to each
other. They have been working hard for their
industries’ development and both of them
manufacture the same product. Both spend
equal amount of time, use the same materials
and are equally hardworking. During the sales
period, Shyam had better product sale in
comparison to Manoj’s product.

Coneclusion I :

The quality of material used by Manoj was not
good.

Conclusion II :

Power cuts ruined the quality of Manoj’s
product.

(1) Only conclusion I follows
(2)  Only conclusion II follows
(8) Both conclusions I and II follow

150.

(4) Neither conclusion I nor II follows

Statement : The civic authority has decided
that all the factories located inside the city
limits be shifted outside to reduce the level of
environmental pollution in the city.

Assumption I :

The pollution level in the city in future may
reduce after these factories are shifted outside
the city limits.

Assumption II :

Enough usable land is available outside the
city limit for these factories.

Assumption III :

Many of these factories may shift to some
other smaller towns to remain profitable.

(1)  Only I is implicit

(2) OnlyIand II are implicit

(8) Only II is implicit
(4) Only II and III are implicit

(55)

149. |DF&S

- 3D DOFEHO 0DSH@

it

XL O FTWEISen, TN
000 S 2P0 HE) KT 2.5
SOHFV HTEE HoFHen daryom. T
800 DA
DATYTYH DO BPEr 2.8 &ed)8D
SO TID. AP Sdrad QDO
IV, 28 ITTOSH  GHTrOVHD
S0 Jrdor FADE I T,
DFASTre 500, HSE & BE 5O,
T DTS @&e5)8 JEorod EO-
&) ch.

RGO 1 :

DT AHTBrA0DS DeSBoHS  eaged
23T BE. '

OO II :

DBB E5en DS &) Treageddd T HS0
TFW. '

1) I3 @I

2) ISP ©HI8N0H

(3) I8a» I e Bodsr @HH80n

@ 130 I en D805y

150. (D5 : SES0S’ HOESER A0 FONA

SNOToH% SHS  HBAS' &Sy ©@)
SorTrod SES0 20638 SEDoToR
D6 ©HFE OO0 AYONOD0B.

vl

& SomrTrod S8 D8O IendO§
S$3D0DS Soged  PINHS'  SKGoS
5NN 0w S,

eIl :

& Sorore 0 SKE DO Jende
SAS0E B oerens’ &od.

&I :

rBohsonr Go%erdd: & Souyrod
T S650 ASE DY) SPETOH SR,

(1) I3 @S55I

2) 1000 I S OS5
(3 II @olfS
4) T 5605 I SHS D o35dd
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SPACE FOR ROUGH WORK



